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#��
�Q ����� �� ���;
����� �� ��
<��� (p, E, P, n) 4 ���� P " �

����� ����� � 
���� ��<���
� E ��0���� �� 
���� Fp4 ��� $�� � ���1���� 1����� ���
P ����� ����
 n 4 ����
9�� � 
���� �F���
� Q � � 
���� ������� d ∈ [1, n − 1] ����
$�� Q = dP '

• ��1
�&
�Q ����� �� ���;
����� �� ��
<��� (p, E, P, n) 4 � 
���� �F���
� Q � �

����1�
 m4 ���"
9�� C1 = kP � C2 = M + kP 4 ���� k ∈ [1, n − 1] � M 
����9
������ � �
� ����������
�� �� m �
 E(Fp)' ���� 2�� �
 ��� ���
����� 
"�����
�
���1����'  ����� 
��� ��0���
���� ��� �����*���� �����
����4 
��2��
� ���� ���
����� ��� ����
�0
�
>�� 
������ ��� ���� ��������
��'

• �

�1
�&
�Q ����� �� ���;
����� �� ��
<��� (p, E, P, n) 4 � 
���� ������� d � �
��.�� 
�2���� (C1, C2)4 ����
9�� M = C2 − dC1 � �.����9�� m � ������ �� M ' ����
2�� �
 ��� ���
����� 
"����� �
���1����'  ����� 
��� ��0���
���� ��� �����*����
�����
����4 
��2��
� ���� ��� ����� ��� ����
�0
�
>�� 
������ ��� ���� ��������
��'
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����

• ��������
�Q ����� �� ���;
����� �� ��
<���4 �
� 
���� ������� d � �
� 
��9
��1�
 m 4 � ���
���� �� ���������� ������� �� �����
�� ���� ���
����� (r, s)�� 
����
0���� ����
���� ��� ���;
����� ���� $�� s = k−1(e + dr)mod n 4 ���� n ����������
� �F
��� �� ���
����� �� 
���� 0����4 k ∈ [1, n − 1] � e = #���(m)'

• 2

��
���	 �
 ��������
�Q ���� ����0
�� (r, s) 4 2�*9�� ��� �� 
���� �F���
� Q��
�����
����� � �� �����9���� P ������� ��� ���;
����� �� ��
<���' 	��
���9�� A =

es−1P +rs−1Q' � 
��������� x�� A���� 
���
���� 
�
 r ���� $�� � ���������� ��D�
�+����'

� ��1����
� ����� �����
� ������ �� 2��� �� ��� �� 
����
���
 ��1����
�� ���9�.�����
����
$�� �������
 � ������
� �� ��1����
� ���
���� ����� 
����� ��<���
��4 ����4 ����� ��
���;
����� �� ��
<��� (p, E, P, n) � Q ∈ E(Fp)4 ����9�� ����� d ��� $�� Q = dP ' ���
�� 
����
� �����
 ��1����
� $�� ������� ���� ������
� �
 ��
�� ���9�.�����
���' �
��0
������ �
 �� �������� ���� ������
� ���
��� $�� 
����� 
������ �
 �		 
����1�

� 
��
� 1��� �� ��1����
� $�� 
����� 
������ �
 �-�' 	�
� 
����� �� ��
�� C'C4
�
� 
���� �� C87 ���� �
 �		 ������� �� 
��
� 1��� �� ��1����
� $�� �
� �� C75G
���� �
 �-�' -����
�� $�� �����
 ��
���
>�� �� ����� � 
�
)��� ����
 ��� ��������
����0
����� 
�
 � ��� �� 
����� 
������' � ������ C'C4 
������<�� � ������ �� �����
�.���<��� �� ����
�0
�
�� -�	 5 TI℄4 ������� � �����1�
 �� �		 ����� �� ��
��� �����
��

�����1�+0
�� ��-� � ��1����
� ���
����! ��
���� ��
���� �� 
����� 
�
� ���;
����'

� ����
�0
�
�� PI'85 ������� �����"� �� ������ C'5 � ��
�� ��
���+��� ���� $�� �

����� ��1����
� �� ����)���� 1���� 
����
��� �������� ρ! ������� � ������
� �� ��1����
�
���
���� ����� 
����� ��<���
��4 ������� $�� �
� 
+$���� �� C ���- 
����1� �.�
����
G7777 ���
>�� ����� �
� 
���� ��<���
� ��� ��1����'

� ( $�%����� �
 )������
	
�

���� ��������
�� 2�* �
� 
�
����
�� �� �
��������� ��2��
�
>�� ����� � ������ �� ����
�� ����
�
�� �� 
����� ��<���
�� � 
�����1��0�4 ����������� 
�
� � ��
���� �� ���;
�����
�� ��
<��� �2��� �� 
���
���<���
�� �� ����
����� � ��1����
� ��� �����
�� �� 
�����1��0�
�������� �
 ���� 
�����' %�
� ����
��� ���+ ���� /� ��
����� �� 
����� � 
�����4 �����*����9
�� ���������� �� ������� �� 
��� �
��:
�
� � ��� ����
�0
�
>�� � ����>�� �������� ����
���F�����4 �� 2��
� � ������
�� �� ���$��� 
��� 
�
�
���� ��
��������'

� * $��
��+
	
� )���� )�
������

���� ��
�
���� 2�� �������� �
 6 
��<����� ��������� �� ��1����� 2��
�Q



�	�	 �����������  ����  �
������ J

• 	��<���� C 9 �������
��Q �.�>� � ��D����� ����� �������� � � 2��
� 
�
� ��� ���+
�����������'

• 	��<���� 5 9 ��0��
>�� �� 	����� ��<���
��Q -�� ����� ��2��:�
��� /� ��0��
>�� ��
1�����4 
�����4 
����� ��<���
��4 ����������
>��4 �	�(' ����
"��
� ����� 	�����
��<���
��Q ���
��4 
�������
�
��4 �����2��
�
>�� ��������4 
����'

• 	��<���� E 9 ��
���� �� ���;
����� ���� 	�����1��0� ����� 	����� ��<���
��Q ��9

���� �� 
����4 
���� � ���;
����� �� 
����4 1���� �� ��������� �� ��
���� �
��9
�)�
�� -�	,!'

• 	��<���� G 9 �����
� �� #���� ���� 	����� ��<���
��Q  ���
 �� �
� 
���� ��<���
�'

• 	��<���� H 9 	����� ��<���
�� � #����9��<���
��Q ������
� �� ��1����
� ���
����
����� �� ���� ����� ���� 
�����'

• 	��<���� 8 9 	�
���
���� ����� -�1����
� � ����
�����Q 	�
� � ��
���� ��
���;
����� ���� �2���� ����� ����
���4 �F
��� �� ������ �� 
����4 ���$���'

• 	��<���� J 9 ����>�� �
 	�����1��0� ����� 	����� ��<���
�� Q ����>�� 
�����������
9 �CE8E4 ��-� PI'854 ��-� PI'8E4 O�� O�(-4 %��- C68'5'

• 	��<���� 6 9 	��
���>�� Q 
��������
�� ��� ��
����� �� ���;
����� ���� �		4 
�

����
��
>�� ����� ����
����� � ��1����
�'

����� 
��<���� 2�� �.����� � 0�������� ����� �������� � � 
������ �
 $�� 2�� ����9
����' �� 
��<���� ��1����� ����� ������������ 
��
����� ��
���+���� / 
�
�������� ��

�����1��0� ����� 
����� ��<���
��'
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����

������ C'CQ 	�
����
>�� ����� ��
����� �� 
�����

�<��� ��
-�1����
�
�����!

	����
-�
"���
�
�����!

	���� �		
�����!

	����
�-���-������!

H8 H8 CC5 HC5
67 67 C87 C75G
CC5 CC5 55G 57G6
C56 C56 5H8 E7J5
CI5 CI5 E6G J867
5H8 5H8 H5C CHE87

������ C'5Q 	�
���.����� �� �	�(�

��
���� �

���� ��


��������� �

	�
���.�����
�� ��1����
�

�
√

πn
4
!

	�
����
��
����- ���!

C85 280 1.1 × 1012

55G 2111 5'E×1021

5H8 2127 C'H×1026

E6G 2191 5'I×1045

H5C 2259 6'G×1065



�
������ �

��	�
� ������

� !�"���#�� �

$��	
�#��

 � ��$��
�� �� 
�����1��0� ����� 
����� ��<���
�� ���������� ����� ��
�
���� ��9
�����
 �����
>�� ����
"��
�� ��
� 
���� ��<���
� �� �� 
���� 0���� ����� � $��� ���+
��0����'  �������� 
��<���� ��
 ��� ��D����� 2�*�� �
� �������
�� ��� 
��
�����
��
���+���� �� �������
���� � ����
�
�� �� ���� �����
>��'

# � ,�����

,���� , 
���������� � �
 
��D���� C � �
� �����
�� ���+��� 	� ��0���� ����� ��
���
����� ����� 
��D���� �� ��� 2��
� $��4 ����� a, b, c ∈ CQ

• � �����
�� 	� ��D� 2�
���� ����� � 
��D���� CQ a	� b ∈ C

• � �����
�� 	� ��D� ����
������Q a	� (b	� c) = (a	� b) 	� c

• �.���� �
 ���
���� ������ ����������� �������! O ∈ C ��� $�� a	�O = O 	� a = a

• ���� 
��� ���
���� a ∈ C �.���� �
 ���
���� ������� ����a) ��� $��
a	� ���(a) = ���(a) 	� a = O

��"
 �����4 � 1���� ���+ 
���������� ��������4 ��Q

• � �����
�� 	� 2�� 
�
�������Q a	� b = b	� a

I



C7 �������� !	 ������ "�����
��#  �����$�� � ������$��

# # ������

�
 
���� 
������� �� �
 
��D���� F 
�
 �����
>�� �� ���
�� ��������� ��� X! �

�������
�
�� ��������� ��� ·! �� ��� 2��
� $��Q

• (F, +) ��D� �
 1���� �������� 
�
 ���
���� ���������� �������� ��� 7W

• (F Y Z7[, .) ��D� �
 1���� �������� 
�
 ���
���� ���������� �������� ��� CW

• ���������������� ��D� �+����Q (a + b).c = a.c + b.c ���� ����� a, b, c ∈ F'

-� � 
��D���� F ��0���� �
�
� 2�� 0���� 
���� " ���� 0����'
��"
 �����4 �� �����
>�� �� ������
�� � ������� ����
 ��� ��0����� �����*���� ��

�������� ������� � 
�������
�����4 �����
����
����'
����� 2��
�4 ����� a, b ∈ FQ

• ������
�� ��������� ��� 9!Q a − b = a + (−b! 4 ���� −b " � ������� ������� �� bW

• ������� ��������� ��� �!Q a/b = a.b−1 4 ���� b−1 " � ������� 
�������
����� �� b �= 0'

 ��1����� ��������� �� ������ �� 
����� 0����� ��������
� $�� � �F
��� �� ���
����� ��

��D���� � ������ �� $��� � 
���� " ��0���� ����
���9�� ����
 �� 
����'

3
	

�� � �.���� �
 
���� 0���� F �� ����
 q 4 ��4 � ��
���� ��4 q 2�� �
� ���:�
��
�� �F
��� ���
� ����� "4 q = pm, 
�
 p ���
�4 
��
��� 
���
���<���
� �� F 4
� m ≥ 1 ∈ Z!'

����� ������ !�����

���� � ��0��
�� �� 
���� 0���� ���� �
�
�4 �� m = 1 � 
���� " ���� ���
�'  

��D���� �� �������� ����� ��� {0, 1, ..., p − 1} D����
���� 
�
 �� �����
>�� �� ���
�� �

�������
�
�� 
)���� p 
��������
 � 
���� ���
� Fp' ��"
 �����4 p " 
��
��� 
)����
�� Fp4 � ���� 2�*�� ����
�� 
)���� p �� $���$��� ������� a " ��
���+��� ��
�� � ����� ��
������� ������� �� a ��� p'
�
��������Q �.
��� $����� �.���
���
���� ���� � 
����+���4 �� 
����� ���
�� 
��9


������� ����� ��
�
���� ����� 
���
���<���
� 
���� $�� E' ���� ����9�� �� 2��� �� $��
�� �$��
>�� �� 
���� ��<���
�� ����� ���� 
����� ����
 ��2������� ��� ��� ��
��� ���
��'
	�
� �� 
����� �� ��������� �
 
�����1��0� ���
��
���� ��� �� 
���
���<���
� 
����

���� $�� ��:�4 � ������
�� ���+ ��1����'



!	!	 ������ CC

����� ������ "�	#����

��
�"
 
��
���� 0����� �� 
���
���<���
� 54 ��� ��������� ��� F2m ' -��� ���
�����
����
 ��� 
����������� 
�
� ������
��� ���+���� �� 1��� 
���� �� �1��� � m − 1 
�


��0
������ �
 F2Q

F2m = {am−1x
m−1 + am−2x

m−2 + ... + a2x
2 + a1x + a0} 
�
ai ∈ {0, 1}

� �����
�� �� ���
�� ��� ���
����� ����� 
���� 
������� �� ���
�� ����� �� ������
���4
����� $�� � ����
"��
� ����
��� ��� 
��0
������ " �� 
)���� 5' � �����
�� �� 
�������9

�
��4 �� �������4 ��$��� ����
�� ������
��� �� 
)����' ���� �����4 2�*9�� ��� �� �

������
�� ���+��� �������<��� f(x) �� 1��� m' � ����
�� �� �
 ���� ������
�� a(x)


������� �
 ��
��9�� � ����� �� ������� ������
��� �� a(x) ��� f(x)' ��� ��*>�� ��
����
�����4 $����� 
���� 2�� � �F
��� �� ���
�� ���9����� �� f(x) ����� 
��� �09

����� ���+ � �����
�� �� ����
��' �����
��� ��4 �� ���:�
�� ������ ���� �
 ���� m4
�������
���! ��� �� 
������� ��
����� 
����
����'
����Q 
����� �� 2��
� Fpm4 
�
 p �= 2 ��� ����� 
����������� ����� ��
�
����4 �����

$�� ��� ��� �����*���� ����� ����>�� 
����������� �� ������'

�4�4�4� ���
 $	���	����

 � ���
����� �� F2m ����
 ��� ������ 
�
� ������� ���+���� �� ��
����� m ����� F2'
�
� ���� ������
��� " �������� ��� {xm−1, xm−2, ..., x2, x, 1}' 	��� ���
���� �� F2m 4
��������4 
���������� � �
 ������
�� �� 1��� 
���� $�� m Q am−1x

m−1

+ am−2x
m−2 +

... + a1x + a04 
�
 
��0
������ ai ∈ {0, 1}' ��� ���
���� ���� ��� �������� 
�
� � �����
�� ���� (am−1...a1a0)'

�����	� � ���
�� �� ���� ���
����� (am−1...a1a0) � (bm−1...b1b0) ������� �
 (cm−1...c1c0) 4
���� ci = ai ⊕ bi � ⊕ ������ � �����
�� ��9�.
������'

5�������
���	� -�D� � ������
�� �������<��� f(x) = xm + fm−1x
m−1 + ... + f1x + f0 4


�
 fi ∈ F2 ���� i = 0, ..., m − 1 � f0 = 1 '  ������� �� ���� ���
����� (am−1...a1a0) �
(bm−1...b1b0) ������� �
 (rm−1...r1r0) 4 ���� � ������
�� rm−1x

m−1+...+r1x+x0 
����������
�� ����� �� ������� �� (am−1x

m−1 + ...+a1x+a0).(bm−1x
m−1 + ...+b1x+b0)���� ������
��

f(x) ����� F2.

�4�4�4� ���
 6	
���

��
 � 2��
� {α, α2, α22

, ..., α2m−1} ���� �
 ���� α ∈ F2m ' ���� ����� ��
��� �.����

���� m ≥ 1' ���� ���� �� ���� " �������� F��� �
 �
���
����
>�� �
 ����?���' �



C5 �������� !	 ������ "�����
��#  �����$�� � ������$��

�����
�� �� ������ �
 ���� ���
���� �� 
���� �� $������� 
������� ��
����
���� �

2�*�� �
 �����
�
���� 
��
���� �� ����' � �
���
����
�� �� 
�������
������ ������� ��
����4 
�
� ���
���� ��� �����@ �  
��� THC℄ " 1�����
���� ��
���0
���'

� 
����� �� 
�
���.����� �
 ����?��� ����� 
�������
���� " �
� 2��
�� �� ����
��
������' -�� ����� " 
<��
� ���� � ���� ���
�� )��
�4 
�D� 
���
����*�
�� ���� ���
��
������� �
  �@�*
��
A TH5℄' ���� ����� ��� ����
������ ����� 1��������� )��
�� �
�.����
 ��
��� $�� m ��� 2�� �����<��� ��� 6' -�� ���� " ���� ��� �
 ������� ��������
$�� ����
� $��� ��
���� ������� � �����
�� �� 
�������
�
�� ����� ��� ����'

# & ����
� ������

� 

����� �$��%&�� 
� �����

�	
�	 $
��	 Fp

�����"� �� 
����
�� ��
���<���� �� ����+���4 � �$��
�� �� 
���� ��<���
� ���� ��� �����
�� 2��
�

y2 = x3 + ax + b

���� a, b ∈ Fp4 � ��
 ���
��
������ ���� ��� ∆ = −16(4a3 + 27b2)' ���� $�� � 
���� ���
��D� ���1����4 ��� ���
��
������ ���� ��� ��2������ �� 7 �
�� p!'

�	
�	 ���7
�	 F2m

�����"� �� 
����
�� ��
���<���� �� ����+���4 � �$��
�� ����
� � 2��
�

y2 + xy = x3 + ax2 + b

���� a, b ∈ F2m 4 � ��
 ���
��
������ ���� ��� ∆ = b' ���� $�� � 
���� ��� ��D� ���1����4
��� ���
��
������ ���� ��� ��2������ �� 0'

����� �������	��%'� 
� !�	���

�� �$��
>�� ����� ���� �� 
����� ��<���
�� �� ���
 �������� 2���
 �������� �
 
�9
��������� �0��' 	��� �� �����
>�� �� �������� ����� �� 
����� 0����� ���� �� �$��
>��
2���
 ��0����� ��D�
 ��1��0
�����
���� 
��� 
���� $�� �� �����
>�� �� 
�������
�
��4
���� ��� �����D��� � ��� �� ������ �����
� �� 
���������� $�� 
���
�*� � �F
��� �� ����
�����
>��'



!	�	 ������ "�����
��	 CE

�		
�
����� $
	8
������ -�D� K �
 
���� � c, d �������� ���������' ����9�� ��0���
�
� ����
�� �� �$�����:�
�� ∼ �� 
��D���� K3\{(0, 0, 0)} �� ����� ��0����� ����� K ���

(X1, Y1, Z1)∼(X2, Y2, Z2), ��X1 = λcX2, Y1 = λdY2, Z1 = λZ2 ���� ��1�
λ ∈ K∗

� 
����� �� �$�����:�
�� 
������� (X, Y, Z) ∈ K3\{(0, 0, 0)} "Q

(X : Y : Z) = {(λcX, λdY, λZ) : λ ∈ K∗}
(X : Y : Z) " 
��
��� ����� ���D����� � (X, Y, Z) " 
��
��� �� ������������� ��

(X : Y : Z)'  
��D���� �� ����� �� ������ " ����
����� P (K)' -� (X ′, Y ′, Z ′) ∈ (X :

Y : Z) ����� (X ′ : Y ′ : Z ′) = (X : Y : Z) 4 ��1��0
���� $�� $���$��� ���
���� �� �
�
�$�����:�
�� ���� ������ 
�
� ��� �������������'
	�
� �.�
���4 Z �= 04 (X/Zc, Y/Zd, 1) " � F��
� ������������� 
�
 Z = 1 �� �����

���D����� (X : Y : Z)' ��
9��4 ����� 2��
�4 �
� ����������
�� C9C ����� � 
�D���� ��
������ ���D������ P (K)∗ = {(X : Y : Z) : X, Y, Z ∈ K, Z �= 0} � � 
��D���� �� ������
�0�� A(K) = {(x, y) : x, y ∈ K}'
-�����������9�� x ��� X/Zc � y ��� Y/Zd ��� �$��
>�� �
 
���������� �0�� ��� 
��9

��� ��<���
�� � ���
������9�� �� ����
��������4 ��
9�� 
�
� ��������� �$��
>�� �� 
����
��<���
� �� 2��
� ���D�����'

�		
�
����� $
	8
����� 
	� �	
�	 $
��	�

• 	���������� ���D������ ������Q c = 1, d = 1, Z �= 0 4 
������������� �� �����
�0
 (X/Z, Y/Z)'

• 	���������� D�
������� ���D������Q c = 2, d = 3, Z �= 0 4 
������������� �� �����
�0
 (X/Z2, Y/Z3)'

• 	���������� 	�������A�Q � ����� D�
������ (X : Y : Z) " ������������ 
�
�
(X : Y : Z : Z2 : Z3)'

 � ��2������� ����� �� 
���������� ����
 ��� 
�
������� ��� ��1����
�� �� ���
�� �

�������
�
�� �
 
����� ��<���
�� ��D�������� 
������� �� ����
�����' ���� �� ��1����9

�� �������� �
 TGE℄4 
��<���� E4 ��
�� ���� � 
���� y2 = x3 − 3x + b �A =
����' �0��W
P =
����' ���D����� ������W J =D�
������W C =	��������A�W I =�����
�� �� ��������
�� 
����W M\ �����
�� �� 
�������
�
�� �� 
����W Q\ �����
�� �� ������ �� $�������
�� 
����! �� 
����� 
������� ��� ������� 5'C4 5'5 � 5'E '



CG �������� !	 ������ "�����
��#  �����$�� � ������$��

�		
�
����� $
	8
����� 
	� �	
�	 ���7
�	�

• 	���������� ���D������ ������Q c = 1, d = 1, Z �= 0 4 
������������� �� �����
�0
 (X/Z, Y/Z)'

• 	���������� D�
������� ���D������Q c = 2, d = 3, Z �= 0 4 
������������� �� �����
�0
 (X/Z2, Y/Z3)'

• 	���������� ()��*9�����Q c = 1, d = 2, Z �= 0 4 
������������� �� ����� �0

(X/Z, Y/Z2)'

	����������� � 
���� y2 + xy = x3 + ax2 + b 4 ��
�� �� ���������� 
�
��������� �M\

�������
�
�� ����� � 
����W D\ ������� ����� � 
����! �� ������ 5'G'

# ( ���	
� �� ������

-�D� E �
� 
���� ��<���
� ��0���� ����� � 
���� Fq'  � ������ �� 
���� � � �����
��
�� ���
�� 2��
�
 �
 1���� ��������4 
�
 � �����∞ �������� 
�
� ���
���� ����������'
�
� ����������� ������������ �
 ����
�� / �����
�� �� ���
�� ���� 
����� ��<���
��

��0����� ����� � 
���� ��� ����� " $��4 1��
����
�
����4 ��� 
������� �
 ���
�� �
�

���� ����� ���� ������ ����� ���
������� � ��=����4 �
 ����
�� �� ��.� x 4 � ���
����
����� �� �������

�� ����� ��� 
���� � � 
���� ��<���
�' ���� ��
�� �
 ����� � �� ��)����4
���
�9�� �
� ���1���� ���� ����� � ��=���9�� � ��1���� �������

�� �� ��� ���1���� 
�

� 
���� �
 ����
�� �� ��.� x ���� ����� � ���������' 	�
� �.�
���4 � 01��� 5'C �������
��� ����������� ���� � 
���� �� �$��
�� y2 = x3 − 8x + 6'

��(�� ����� !���� Fp

-�D� E �
� 
���� ��<���
� ��0���� ����� � 
���� Fp 4 ���� p " ���
�4 ���� ���
y2 = x3 + ax + b' -�D�
 ���� ������ P = (x1, y1) � Q = (x2, y2)4 
�
 P �= ±Q' �����4
P + Q = (x3, y3) 4 ����

x3 = ( y2−y1

x2−x1
)2 − x1 − x2 � y3 = ( y2−y1

x2−x1
)(x1 − x3) − y1

	�
� �.�
���4 � 01��� 5'5 ������� �
� ���
�� �� ������ ����� � 
���� �� �$��
��
y2 = x3 +6x+13 ��0���� ����� F23'  ����
�� 1��
"���
� �� ���
�� ����� ����� � 
����
�� ����� ��� 
��� �� ����0
� �$��'
���� � 
��� �
 $�� P = Q4 P + Q = P + P = 2P ' -�4 P �= −P 4 ��
��Q
x3 = (3x1+a

2y1

) − 2x1 � y3 = (
3x2

1
+a

2y1

)(x1 − x3) − y1

���� ���� ���� �� 
����4 ��
�"
 ��
��Q −P = (x1,−y1)



!	�	 %�������
���� 
� ������ CH

y2 = x3
− 8x + 6

R = P + Q

−4 −3 −2 −1 0 1 2 3 4 5
−10
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 P

 −R

 Q
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x

y

%�1��� 5'CQ ���
�� �� ������ �
 
���� ��0���� ����� � 
���� ��� �F
���� �����

��(�� ����� "�	#��� F2m

-�D� E �
� 
���� ��<���
� ��0���� ����� � 
���� F2m 4 
�
 m ≥ 1 �������4 ���� ���
y2 + xy = x3 + ax2 + b' -�D�
 ���� ������ P = (x1, y1) � Q = (x2, y2)4 
�
 P �= ±Q'
�����4 
����������� λ = (y1 + y2)/(x1 + x2)4 P + Q = (x3, y3) 4 ����

x3 = λ2 + λ + x1 + x2 + a � y3 = λ(x1 + x3) + x3 + y1

	�
� �.�
���4 � 01��� 5'E ������� �
� ���
�� �� ������ ����� � 
���� �� �$��
��
y2 + xy = x3 + g13x2 + g10 ��0���� ����� F24 '  ����
�� 1��
"���
� �� ���
�� �����
����� � 
���� �� ����� ��
�"
 ��� �� ����0
� �$��'  � ������� �����*���� �� 
������
��
�� 01��� 5'E ��
�����
9�� �������� �� ������ 5'H

���� � 
��� �
 $�� P = Q4 P + Q = P + P = 2P ' -� P �= −P 4 ��
��Q
x3 = λ2 + λ + a � y3 = x2

1 + λx3 + x34 
�
 λ = x1 + y1/x1

���� ���� ���� �� 
����4 ��
��Q −P = (x1, x1 + y1)

# * -�������

	
� �� ������

-�D� �
 ����� P ����� �
� 
���� ��<���
� E 4 � m �
 �F
��� �������' � �����
��
�� 
�������
�
�� �� m ��� P 
�������
 �
 ����� � ��������� �� ��
� �� m ���
��Q



C8 �������� !	 ������ "�����
��#  �����$�� � ������$��

y2 = x3 + 6x + 13

R = P + Q
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%�1��� 5'5Q ���
�� �� ������ �
 
���� ��0���� ����� �
 
���� 0���� ���
�

[m]P = P + P + ... + P '
 
���� ����� �������� �� m ���� � $��� � 
�������
�
�� ������� �
 ∞ " ����
�����

����
 �� P.

# . ��)/ 0 �������
 ����� )��
���� /��
�����

 ������
� �� ��1����
� ���
���� ����� 
����� ��<���
�� ��	�(! " � ������
� �
 
�D�
��0
������ �� ������
�� ������9�� � ��1����
� ��� �����
���� �� 
�����1��0� $�� ���
 ����
���� �� 
����' ��� 
������� �
4 ���� � 
���� E � ���� ������ P, Q ����� ��� ����
�������
�� 2��
� P = lQ 4 ��
������ � ����� l �
�
 l 
���� $�� � ����
 �� P !'

# 1 ��������
� �� ������

����� �� ���;
����� �� ��
<��� �����*���� ��� �
���
����
>�� �� �		 
�����
 ��

��0
������ �� 
���� ��<���
�4 ��0
������ ���� ��0��9�� 
�
�����
����' ]����� �� 
�9
������
�� �� ������ �� 
���� ��� ��2������� �����
���� ���������� ��� �		4 ����9�� 2�*��
��� �� �
� ����������
�� 
�
��
�� ��� ������' ���� ���� �������� ��
� �
���
�� 
��9
�����+��� �� ������
�
)���4 ���� $�� � 
�
���
���� �� ����� �
 ��� ����������
�� "
�������� ��
���<��' ���� �����4 2�*9�� ��� �� 2��� �� $�� � �$��
�� �� 
���� ��<���
�



!	&	 ���������� 
� ������ CJ

y2 + xy = x3 + g13x2 + g10

R = P + Q
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%�1��� 5'EQ ���
�� �� ������ �
 
���� ��0���� ����� �
 
���� 0���� ���+���

" 2����
��� 
�
� ����� ��� ���;
����� �� ��
<���' 	�
� ��
�� �
 
��� � ����� ��

���������9. �� �����4 2�*9�� ��
���+��� ��� ��
���� ����
�� $��� ��� ���� ������� ��

���������9@ $�� �����2�*�
 � �$��
�� ���+ ����
���� � �����'

� ����
�0
�
�� -�	 5 TI℄ �����*� 
�
������� �� ����� �� �
���� 
�
 � ��1����� ��1�9
���
�Q

�90 ��35 Q 	�
������� �� ������

�������Q ����� P 4 
���� Fq 4 
��0
������ �� 
����
-�^��Q -����1 M �� �
����� ������������� � �����
C' -� P = 04 M ← 0016

5' -� P �= 0

5'C' 	�������� xp ��
 �����1 X �� 
�
���
���� ⌈(��1q)/8⌉
5'5' -� � 
���� 2�� ���
�4 ỹp ← yp (
�� 5)
5'E' -� � 
���� 2�� ���+��� � xp = 0 4 ỹp ← 0

5'G' -� � 
���� 2�� ���+��� (F2m) � xp �= 0 4 
��
���� z = zm−1x
m−1 + ...+ z1x+ z0 ���

$�� z = ypx
−1
p � 2�*�� ỹp ← z0

5'H' -� ỹp = 0 2�*�� �����1 Y = 0216 4 ����� Y = 0316

5'8' 	��
������ X � Y � �������� � M

E' -��� 
�
 M.



C6 �������� !	 ������ "�����
��#  �����$�� � ������$��

# 2 3����������

����� �� �$��
>�� �� ���� 
���� ��<���
�� E1 � E2 ��0����� ����� � 
���� ���
� FpQ

E1 : y2 = x3 + ax + b

E2 : y2 = x3 + āx + b̄

�� 
���� ��� ����� ���
)�0
�� ����� Fp �� �.����� u ∈ Fp 4 
�
 u �= 04 ��� $�� � 
����
�
�� ����+��� (x, y) → (u2x, u3y) �����2��
� � �$��
�� E1 �
 E2'

����� �� �$��
>�� �� ���� 
���� ��<���
�� E3 � E4 ��0����� ����� � 
���� ���
� F2m Q

E3 : y2 + xy = x3 + ax2 + b

E4 : y2 + xy = x3 + āx2 + b̄

�� 
���� ��� ����� ���
)�0
�� ����� F2m �� b = b̄ � ���a!\���ā! 4 ���� ���x!\x+x2 +

x22

+ ... + x2m−1

4 
�
 x ∈ F2m' ������ 
����
>��4 �.���� s ∈ F2m 4 
�
 ā = s2 + s + a ���
$�� � 
����
� �� ����+��� (x, y) → (x, y + sx) �����2��
� � �$��
�� E3 �
 E4'

� ����
�� �� ���
��0�
� " �
� ����
�� �� �$�����:�
�� �� 
��D���� �� 
����� ��<���9

�� ��0����� ����� �
 
���� K. -� ���� 
����� E1 � E2 ����� K 2���
 ���
)�0
��4 ��
1����� 
�������������� ��� ������ 1������ ��� ���� 
����� ��
�"
 � �����' _ ��������4
����� 2��
�4 
������� �
 
����
���� ������<��� ��� ���
����� �� �
 1���� ��� �� �����'

����� 
��<���� 2�� 
������� � ��0��
�� �� 
���� ��<���
�4 ��
 
�
� �� �����
>�� $��
����� ��� ����
 ��� �2������� ������� �����*�
�� �� ��
��� �� 
�����1��0�' � ��1��� ���+
���
����� 
�
� 2�*�� � ��
���� �� ���;
����� ���� ��0��� � ����
�
�� �� ���� 
����� /

�����1��0�'



!	'	 
���������� CI

������ 5'CQ �����
�
�� �� �����
2A → A 1I, 2M, 2Q
2P → P 7M, 3Q
2J → J 4M, 4Q
2C → C 5M, 4Q

������ 5'5Q ���
��
A + A → A 1I, 2M, 1Q
P + P → P 12M, 2Q
J + J → J 12M, 4Q
C + C → C 11M, 3Q

������ 5'EQ ���
�� � 	���������� ������
J + A → J 8M, 3Q
J + C → J 11M, 3Q
C + A → C 8M, 3Q

������ 5'GQ 	���������� ���D������ 9 	���� ��  ����
>��

	���������� ���
�� �����
�
�� �� �
 �����
�0
 1M, 1D 1M, 1D

���D����� ������ 13M 7M
&�
������ 14M 5M
()��*9����� 14M 4M



57 �������� !	 ������ "�����
��#  �����$�� � ������$��

������ 5'HQ 	���� F24


���������9. ����������
�� �����

� C �7 7 7 C!
3 g �7 7 C 7!
	 g2 �7 C 7 7!
� g3 �C 7 7 7!
� g4 �7 7 C C!
% g5 �7 C C 7!
, g6 �C C 7 7!
# g7 �C 7 C C!
� g8 �7 C 7 C!
& g9 �C 7 C 7!
K g10 �7 C C C!
( g11 �C C C 7!
� g12 �C C C C!
� g13 �C C 7 C!
 g14 �C 7 7 C!
� 7 �7 7 7 7!



�
������ %

��
��&
 
� '
	(���	�� �
	


�	�����	
"
 ���	� ��	�
� ������

�

 � ��2������� ����>�� �� 
�����1��0� ����� 
����� ��<���
�� ��0��
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����� $�� �� �
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>�� $�� ���1�
 
��2��
����� �����
 �����*��' �
 1����4
���� 
��D����� ��� ����
������ `���;
����� �� ��
<���a � ��0��
4 ����� ������ 
�����4
� 
���� � � 
���� ��<���
� � ����
 �����*���� �� �
���
����
�� �� �����
����' �����

��<���� ���+ 
������� 
�
� ����� ��������� � ��1����
� �����"� �� ����
�� 
��������� ��
���;
�����'
�� ��
>�� �� 
���� ���������� �$�� ��� Fp � F2m 4 ���� p " �
 �F
��� ���
� � m

" �
 �F
��� �������' ]����� /� 
����� ��<���
��4 �+ ����� $�� ���
���
 �
���
��9
��
>�� �0
������ �� �����
>�� �
�
� �� �� K�����*! � ����� $�� ���
���
 ��� ��������4 ���
���������
 �
 �
���
����
>�� ������
���� ����1���� �
�
� �� ���1������!'  � �2�����
����� ��1����
� � ����
����� $�� ���� ���;
����� �
������
 ��� ���
������ �
 ��������
� ��1���'
�
 1����� 1��� �� ��������� �� ��
����� �� ���� ���;
�����4 ����� $�� 
��
��� 
�
 ��

������� 
�������4 
����
���� ������� �
 �
���
����
>�� 
��� ��1����' ����������4 ����
����� ������
�� 
�
 ������������������ � ����
����� ����� ��2������� �
���
����
>��'
M������ ������ ��� ������
�4 � 
���)�
�� -�	, ������"� �� ���� ����
�0
�
>�� -�	 C
T6℄ � -�	 5 TI℄! ������ ��1�
�� ������
>�� ��� ��
����� �� ���;
�����4 �������� 1�������
����� �
 �<��� ��*�+��� �� ��1����
�4 $����� ����
����� � 
�
������������ ����� ��
�
���
����
>�� ������<���� �� 
��
���'

& � ��
���
 �� �����

����� ��
�� ����� 
�������� 
����� $�� ���
���
 �
���
����
>�� �0
������ �� ����9
�
>�� ����� 
����� ��<���
�� � 
����� ����������� � ���$��� 
����
����'  � $�� ��� 2�+1���

5C



55 �������� �	 "�
���� 
� ���(������ ���� ����������� ����� ������ "�����
��

�� ����� �� ����� �� ��1����
� ��
�"
 ��� �������� 
�
� ��
����� � ����
 ��������'

����� ������ !����� �Fp 

 ���
� �
 �	� �
�
��
�#	

+ 6:�

	� $
��	� �
 5

�
��
 #+ ��1����
�� �� ����� �� ���
������� ��������
���
�*���� ���� 
������ ����
���� �� �F
����4 ���� 
�
� �� �� ��������4 $�� ��� �F
����
�� 2��
� 2s − 1, 
�
 s ∈ Z' ���� �F
���� ��� 
���� F���� ��� ��
�"
 ���
�����

����
"��
� �0
����� ��� 
����� ����� ��������'
	�
� ����� �
 TG5℄4 �
 ���� �F
��� �� �������� 2s − 1 " ���
�4 ��4 � ��
���� ��Q
��! s " ���
� �
���! � �"��� ��0���� ��� u0 = 44 uk+1 = (u2

k −2) 
�� n ���� k ≥ 0 �����0*�� � 
����
��
us−2 = 0'
 � �F
���� �� �������� ���
���
 �����
�� �� ����
�� �� 
)���� �� 2��
� ��������

�0
�����4 
�
� �� ��1����
� ��1�����4 2�*���� ��� �� �����
�
�����4 ���
>�� � 
�������9

�
>�� �� ���
���� ��
����Q

�90 ��35 � ����
�� �� �)���� m = bt − c

�������Q ���� b4 ������� �������� x4 � �
 
)���� m = bt − c 4 ���� c ��
 l �<1���� ��
���� b4 
�
 l < t'
-�^��Q r = x 
�� m'
C' q0 ← ⌊x/bt⌋4 r0 ← x − q0b

t4 r ← r0, i ← 0

5' ��$����� qi > 0 2�
� Q
5'C qi+1 ← ⌊qic/b

t⌋ , ri+1 ← qic − qi+1b
t

5'5 i ← i + 14 r ← r + ri

E' ��$����� r ≥ m 2�
� r ← r − m

G' �������� ��!

+ 6:�

	� $
��	� �� ;	
�� 6�-3 � ����
�0
�
�� %��- C6895 ��
�
���� � �
9
���
����
�� �� 
����� ��<���
�� ����� 
����� �������� ��� ��1������ �F
���� ���
��4 $��
��� �
� 1�������*�
�� ��� �F
���� �� ��������Q

p192 = 2192 − 264 − 1

p224 = 2224 − 296 + 1

p256 = 2256 − 2224 + 2196 + 296 − 1

p384 = 2384 − 2128 − 296 + 232 − 1

p521 = 2521 − 1
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 � �F
���� ���
�� ��-�4 
�
� 
������� �
�
�4 ��� ��
����� 
�
� ��
� �� ������
��
�� �
 ��$���� �F
��� �� ���:�
��� �� 5' 	�
 �.
�
�� �� p5214 �� ���:�
��� ������ ���
�.�����>�� ��� ����� 
F������� �� E5' ���� ������� �
 �����
>�� �� 
�������
�
�� 
�

����
�� �� 
)���� �������� �+����� �
 
+$����� �� E5 ����'

� ����
�0
�
�� %��- C6895 ����: ��1��� ���� �����
>�� �
 
��� �
 ��� 
����� 1������
� ������ ��� �F
���� �
�
� �� 2��
� �� �.�
����' � 
������ ����� �� �� 
�������
���

���� �������� �
�� p! 
������� �
 
��
���� � ������� � ����*�9�� �
�� p!' ��������4 ��
9��
� ��1����� ������
�Q ���� �
 �F
��� ������� A < p24 
��
���� B ← A 
�� p'

�
 1����4 ����9�� ����� B 
�
� � ����� �� �
� ������� �������' -� p 2�� �
 �F
���
1�������*��� �� ��������4 ����������4 B ���� ��� �.������ 
�
� �
� ��
� �� ��2����
�
�
�� p! �� �
 ��$���� �F
��� �� ���
��' ���� 
��
���� ���� �.�������4 ����9�� �����
� ��
� �� ��2����
� ������� � ����*�9�� 
����� p' ���� F���
� ����
�� ���� ��� ������
�����"� �� ���
�� �� ������
�� �������� �� p'

� ��1��� ��
9�� � �.�
��� �� 
�
� ��� �����
�� " 2���� ���� � 
���� F192' ����
�� ��
��� 
����� � ����
�0
�
�� %��- C6895TJ℄ ���� ��� 
��������� ���� �����
�� ��
���
���
����'

 
)���� �
 $������ � ���� ��� p192 = 2192 − 264 − 1' 	��� ������� A < p2
192 ����

��� ��
���� 
�
�

A = A52
320 + A42

256 + A32
192 + A22

128 + A12
64 + A0

���� 
��� Ai " �
 ������� �� 8G ����' � �.������� ���� B " ���� ���Q

B ← T + S1 + S2 + S3 
�� p192

���� �� ���
�� �� CI5 ���� ��� ����� ���

T = A22
128 + A12

64 + A0

S1 = A32
64 + A3

S2 = A42
128 + A42

64

S3 = A52
128 + A52

64 + A5

����� �1�������� ����
 ��� ������� �����*����9�� �� ��1������ 
��1��:�
���Q

2192 ≡ 264 + 1 �
�� p!

2256 ≡ 2128 + 1 �
�� p!

2230 ≡ 2128 + 264 + 1 �
�� p!

�
 577H4 � �1:�
�� �-� ��� ������� ������ �� �
"��
� �����
�� �
� �"��� ��
��
�
����
>�� �� 
��
��� b-���� 3b4 �����1���� ��-4 ������14 ����������� ��1����� �
1����
��
���� �� 
�����' ���� �����
�� �� ��
�
����� 
�����0
���� 
�
� -�	���4 �
�-� ��
�
���� � ��� �� 
����� ���
�� 
�
 
)���� �� 5H8 ����' ��� ����� ����4 ����
�����
�� �� ��
�
����� 
�����0
���� 
�
� � � -�	���4 � ��
�
����
�� �� �1:�
�� "
$�� �� �����*�
 
����� ���
�� 
�
 
)���� �� E6G ����'
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����� ������ "�	#���� �F2m 

 ���
� �
 �	� �
�
��
�#	

+ ���
� 6	
���� �� ��
�� 5'5'5 2���
 
�������� ����� ���
���4 $�� ���
���

�����
>�� �� 
�������
�
�� �������� �0
������ ������
����
���� �� 1���������4 $�� ���
)��
��!' ��"
 �����4 � $������� �� �
 ���
���� ���� ��� ������ 2�*���� �����
�
����

��
���� �� $�� " ��������
���� ������ ���� ����?���!'  � ����>�� ��-� � -�	, ��
���

�� ����� ���
��� 1��������� ����� ���� ��
�
����
>��'

+ ���
� �	���	����� �����<���	 �
�����	� 	� �
�������	�> ���
���
 ����
�� ��

)���� �� 2��
� 
��� �0
����� $�� ������ ������
��� 
�
 
������ �F
��� �� ���
��
���� � 
���� �F
��� �� �����
>�� ���������� �� ���
����' � ����
�0
�
�� ��-� PI'85T5℄
����: ������� 
�
 ���� ������
��� ���� m �������� ��" CIII'

 ���
� �
 �	� -
&�
����

+ F2m? 	��
 m @ �� �:�

	 �
��	 ����� ����� �� 
����� ���+���� ��� 
�����)����
���� ����>�� 
�
� � ��-� PI'85 T5℄' ���� ���������*�
 � ��� �� ���$��� �������� ��
���������� �� O��� ���� ����
�� �� ������
� �	�(� ����� 
����� �����9��<���
��4 
�
�

������� �� ��
�� 8'5'

�	
�	� ;����	� 6�	+


	�
����	�

+ F2m? 	��
 m @ �� �:�

	 
	��	��	 ,����@4 #��� � -
��� T56℄4 �������� �� ���9
����� �� %��@ TCJ℄4 ���������
 �
 ����
�� �� ������
� �� ��1����
� ���
���� ����� 
����
��<���
� ��	�(�! ���� ����
�
�� �� 
"���� �� O��� 
������� �	�(� ��
 ������
�
����� 
���� �����9��<���
�' ����*�� � ]� TEI℄ 
�������
 $�� ���� 
"���� ��� " ��+���
���� 
����� F2m $����� m " �
 �F
��� ���
�' &�
�����4 ����*�� � -���� TG7℄4 ������4
����*�� ��� ���A� TGC℄ �����
 �+���� �.�
���� �� ���;
����� �� ��
<��� ����� F2m �

$�� ���� ���� �� ���$�� ���� ��� 2���� �� 2��
� ��+���' 3�������9�� �
 ���� ����������4
����>�� 
�
� PI'854 ��� �.�
���4 ���<��
 � ��� �� m 
�
����� ������� ������ ����
2��1�������' ���� ���$�� " 
������� �
 
������ �������� �
 8'5'
�� �
���� 
�
 TGG℄4 �+ 2����� ����:�
��� �� $�� �� 
����� F2m 4 
�
 m ∈ [185, 600] �

�����<��� ��� H ��� 2��
�� ���� ��� �
 �		' -�� 2��
� ��1��0
� $�� ���� ���� 
�����
� ������
� �� �	�(� ���� ��� ��������� �� 2��
� ��
 
��� �0
����� $�� � 
"����
������� ρ'
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��"
 ������4 �
 ����� 2���� 
�������� " F2161 ' ����� 
���4 ���� 294 ��� 2162 
������
�� ���
��0�
� �� 
����� ��<���
��4 � ����
�
�� �� 
"���� �� ����
�� ,#- �,����@4
#���4 -
���! ������� ��
� 
���� �����9��<���
� ����� F223 4 ���� � ������
� �� #	�(�
���1����
� ���
���� ����� 
���� �����9��<���
�! " �� 2+
�� ������
��' ����� 2��
�4 �� �

������
� �	�(� ����������
���� ��
������ ����� F2161 ����� ��� �0
�����
���� 
������
�
 �
� 
���� ��<���
� $�� ������
� � �
� ��� 294 
����� 
������ �
�
�4 ���<�
�� �
�
��
������
�� 
��
������ �� �����$��
�� �� F2161 ���� �		'

& # ��
���
 �
 ����


����� )�%&�� 
� "�� �������	*�

+ ��
��� �
 A	����< ���� " �
 ���� ����
��� �� 
���� ����� F2 
����
��� 
�
� 
����
���
��� ���+���4 ��0���� �� ��1����� 2��
� E(F2) : y2+xy = x3+ax2+14 
�
 a ∈ {0, 1}'
 
�92���� ����� ���� �� 
���� " 54 �� a = 1 � G4 �� a = 0' ��������
�
�� �� ������ ��

���� ��<���
� ��� �
 ��
���� " �������� �0
����� ���� ���� ���� �� 
����4 
�
� 
�������
����.�' ��� " ��
���+��� �����
�
�� �� ����� 
�
� ����� �����
���+���'

���� �
� 
���� �� K�����* E 4 ��0��9�� 
�
� 
��� �� %�������� � �����2��
�
��

τ : E(F2m) → E(F2m) ��0���� ���

{

τ(x, y) = (x2, y2)

τ(∞) = ∞
���� ����������
�� �� ���� ���
��4 � �����
�� �
�
� 
���������� � �����
�
����


��
���� ���� � ������� �� ����������
�� �� x � y4 $�� ��
 ���.� 
���� 
�
����
�����'

����� m � a4 ��D�
 �� ��1������ ��0��
>��Q

· -�D� c > 5 �
 �F
��� �������'

· µ = (−1)1−a

· ���� i = 0 � i = 1 ��D� � ��$V:�
�� si(m) ��0���� ���

si(0) = 0, si(1) = 1 − i

si(m) = µsi(m − 1) − 2si(m − 2) + (−1)i

· ��0�� � ��$V:�
�� V (m) 
�
�

V (0) = 2, V (1) = µ

V (m) = µV (m − 1) − 2V (m − 2)

� ������ �����4 ����9�� 
��
���� � 
�������
�
�� ��
���� nP �� 
���� �� K�����*E(F2m) 
�
�
�� ��1����
� ����.�' ���� $�� " 2���� � ��� �� ����������
�� ���9��D�
���� ����%!4 �
�F
��� ����.�
��� �� ���
>�� � ������
>�� "4 �
 
"���4 �� m/34 
�
 ������������� ��
���� 
���� 1 − 25−c '



58 �������� �	 "�
���� 
� ���(������ ���� ����������� ����� ������ "�����
��

�90 ��35 � ��������
�
�� �� ����� ��� ��
����

�������Q ��
���� n 4 ����� P

-�^��Q ����� Q ��������� �� 
�������
�
�� �� P ��� n C' ���� i = 0 � i = 1 2�
�
C'C n′=

⌊

n/2a−C+(m−9)/2
⌋

C'5 g′ ← si(m).n′
C'E h′ ← ⌊g′/2m⌋
C'G j′ ← V (m).h′
C'H l′ ← ���������
����((g′ + j′)/2(m+5)/2)

C'8 λi ← l′/2C

C'J fi ← ���������
����(λi)

C'6 ηi ← λi − fi

C'I hi ← 0

5' η ← 2η0 + µη1

E' -� η ≥ 1

E'C �����
E'C'C -� η0 − 3µη1 < −1

E'C'5 ����� h1 ← µ

E'C'E ����� h0 ← 1

E'5 ����� �� η0 + 4µη1 ≥ 2

E'5'C ����� h1 ← µ

G' -� η < −1

G'C �����
G'C'5 -� η0 − 3µη1 ≥ 1

G'C'5'C ����� h1 ← −µ

G'C'5'5 ����� h0 ← −1

G'5 �����
G'5'C �� η0 + 4µη1 < −2

G'5'C'C ����� h1 ← −µ

H' q0 ← f0 + h0

8' q1 ← f1 + h1

J' r0 ← n − (s0 + µs1)q0 − 2s1q1

6' r1 ← s1q0 − s0q1

I' Q ← 0

C7' P0 ← P

CC' ��$����� r0 �= 0 �� r1 �= 0

CC'C -� r0 2�� <
��� �����
CC'C'C u ← 2 − (r0 − 2r1 
�� G)



�	!	 "�
���� 
� ����� 5J

CC'C'5 r0 ← r0 − u

CC'C'E -� u = 1 ����� Q ← Q + P0

CC'C'G -� u = −1 ����� Q ← Q − P0

CC'5 P0 ← τP0

CC'E (r0,r1) ← (r1 + µr0/2,−r0/2)

C5' -��� Q

�
 CII64 ,������4 (�
���� � M������� T5C℄4 � O����� � L�

������ T8G℄ 
�������
 $��
�� 
������� ��1����
�� 
����
���� ���� ����
�� �� �	�(� ����
 ��� �
�������� ��� �

2���� ��

√
2.��
�"
 
�������
 $��4 �
� ���� 
���� ��<���
� E(F2s) 
�
 
��0
������

a, b ∈ F2e 4 ����� � 
����� ��1����
� ���� ����
�� �� �	�(� �
 E(F2st) ���� ��� �
�������
��� �
 2���� ��

√
2t' � 
���� ��<���
� ���+��� �� K�����* ���� ��� E : y2+xy = x3+x2+14

��0���� ����� F24 ��
 � �F
��� �� ������ ���� ��� #E(F2163) = 2n, ���� n " �
 �F
���
���
� �� C85 ����'  ������
� �� �	�(��F2163 ! ���� ��� ��������� 
�
 
��
� �� 277 ��9
���
>�� �� 
����� ��<���
��' ���� ���������� 1/16 ��� 281 �����
>�� $�� �����
 ��
���+����
���� �������� � 
��
� ������
� ����� �
� 
���� ���������
���� 1����� 
�
 ����
 ��
9
����'  1���� �
 ����
�����4 ����� 
���4 ��
 
�
� ���
� �
� ����� �
 ��1����
�'

+ ��
��� �5  
"���� �� 
�������
�
�� 
�
���.� �	�! ���
��� $�� �� ��
���� �
����
 �� 1���� 2��
��� ��� �
� 
���� ��<���
� ����� $�� � �$��
�� ����� ��D� ��������
�.���
���
����' ���� 
����� ��<���
�� ����� Fq 4 � 
"���� 	� " ��
�"
 
����
��� 
�
�

"���� �� ��A��9������' ���� F2m 4 ��� " 
����
��� ��� 
"���� �� (�@9L�

��' �
������ 8'E ���� ��� ����� 
�
� ��.<��� �� �����
�� �� 
����� �������� � ��1��� ���$���

����
����'
�� ����
����� ��"��� �
 $�� �� ������ ���� 
"���� 2���
 ��������� �� ����� �� ���
�9

������ �������� ��� ��A�� TC5℄'  
"���� 2�* ��� �� ����
"��
� ����� 
����� 
�
���.��
$����+��
��K = Q(

√
−D) 4 ���� � �F
��� −D " �
 ���
��
������ 2����
�����4 ��������


�
� ������� �+��
� ���� � �����
�� �� 
����'  �F
��� �� 
����� �� K ���� ��� ���.�
���� $�� � 
"���� ��D� �0
�����' ��" � 
�
���� ��� 2���
 ��
�������� 2��1��������
��
�������� ����� ��
����'

 �F
��� �� ������ �� 
���� ��<���
� " ���� ��� m = p + 1 − t 4 ���� t " � ���
� ��
%��������' ��"
 �����4 t = α + α 4 ���� α ��
 ���
� p �
 K'
���� $�� � �$��
�� ���2������ 4p = x2 + Dy2 ���� ��� �����2���� ���� $�� � 
����

��<���
� ����� Fp ����� 
�������
�
�� 
�
���.� �� ����
 �� ���
��
������−D4 ��
�� α =

±(x +
√
−Dy)/24 
�
� ����� �
 TH8℄4 
��<���� M���' ���� ����
�� �� �$��
�� ���2������4

$�� " �$��������� � p = u2+dv24 ���� ��� ����� � ��1����
� �� 	����

���4 
�
� 
�������
� ��1���Q
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���� 
� ���(������ ���� ����������� ����� ������ "�����
��

�(, ���� Q -���
�� �� �$��
�� ���2������

�������Q �F
��� ������� d4 �F
��� ���
� p

-�^��Q ����
�� ���� p = u2 + dv2 4 
��� �.���� �
�'

C' -�D� p/2 < x0 < p �
� ����
�� ���� x2 ≡ −d�
�� p!

5' q0 ← ⌊p/x0⌋
E' x1 = p 
�� q0

G' k ← 0

H' ��" $�� x2
k < p ≤ x2

k−1 2�
�

H'C qk+1 ←⌊xk/xk+1⌋
H'5 xk+2 ← xk mod xk+1

H'E k ← k + 1

8' u ← xk 4v ←
√

(p − x2
k)/d

J' -� v ∈ Z �������� (u, v) ����� �������� c��� ��
 ����
��c

+ ��
��� 
	� *	�
	�	
���	� �	��
��
��
� ,������4 (�
���� � M������� T55℄

�������
 $�� 
����� ��<���
�� 
�
 ����
��0�
�� �0
�����
���� 
��
������ ����
 ���
�����*���� ���� �
������ �
 ��" H7d � 
+�
��� �� 
�������
�
�� �� ������' �� 
����� ��
K�����* ���
����� ��������
���� ��� �
 �.�
��� �����'  ����� ��
��<��� ����� 
���1����Q

E1 : y2 = x3 + ax ��0���� ����� 
���� ���
� Fp4 ���� p ≡ 1 (mod4)'

-�D� α ∈ Fp �
 ���
���� �� ����
 G' �����4 � 
����
���� φ : E1 → E1 ��0���� ���
(x, y) → (−x, αy) � O → O " �
 ��
��
��0�
� ��0���� ����� Fp' -� P ∈ E1(Fp) 2��
�
 ����� �� ����
 ���
� n 4 ����� φ 2��
���� ����� 〈P 〉 
�
� �� 2���� �
 
��� ��

�������
�
�� [λ] 4 ���� "4 φ(Q) = λQ ���� ���� Q ∈ 〈P 〉 4 ���� λ " �
 ������� �����2�*����
λ2 ≡ −1 (modn)' ����� 2��
�4 φ(Q) " 
��
����� �����*����9�� �
� F��
� 
�������
�
��
����� Fp'

E2 : y2 = x3 + b, ��0���� ����� 
���� ���
� Fp4 ���� p ≡ 1 (mod3)' ���� ���� "
�����*��� ���� �����
��� O�(-' -�D� β ∈ Fp �
 ���
���� �� ����
 E' -�D� φ : E2 →
E2 ��0���� ��� (x, y) → (βx, y) � O → O �
 ��
��
��0�
� ��0���� ����� Fp' -�
P ∈ E2(Fp) 2�� �
 ����� �� ����
 ���
� n 4 ����� φ 2��
���� ����� 〈P 〉 
�
� �� 2����
�
 
��� �� 
�������
�
�� [λ] 4 ���� "4 φ(Q) = λQ ���� ���� Q ∈ 〈P 〉 4 ���� λ " �

������� �����2�*���� λ2 − λ ≡ −1 (modn)' ����� 2��
�4 φ(Q) " 
��
����� �����*����9��
�
� F��
� 
�������
�
�� ����� Fp'

�� 2��
� 1����4 �� � ��
��
��0�
� φ ����� �1�� ����� 〈P 〉 
�
� �
 
��� 
�������
�9
���� [λ]4 ���� 
��
���� kP ����� ��
������
�� k1 � k2 ∈ [0,

√
n] ���� $�� k = k1 + k2λ ≡

(mod n)'



�	!	 "�
���� 
� ����� 5I

����� 2��
�4 kP = (k1 + k2λ)P = k1P + k2λP = k1P + k2φ(P )' 3���� �����*�� �

"���� �� 
F������� �.�����
��
>�� ��
���;���� ���� ����� kP '  ��1����
� " 
�������
�� ��$V:�
��'

�(, ���� Q ��������
�
>�� -�
���;����

�������Q w, q, t, k = (kt−1, kt−2, ..., k0), l = (lt−1, lt−2, ..., l0), P, Q

-�^��Q kP + lQ

C' 	��
���� iP + jQ ���� ���� i, j ∈ [0, 2w − 1].

5' ��
����� k = (kd−1, kd−2, ..., k0) � l = (ld−1, ld−2, ..., l0) ���� ki � li ��� �����1� ��

�
���
���� w � d = ⌈t/w⌉ .

E' R ← O
G' ���� i �������� �� d − 1 ��" 74 2�
�
G'C R ← 2wR

G'5 R ← R + (kiP + liQ)

H' �������� R'

����� )�%&�� 
� "�� 
�����	%�

+ �
��
���
� ��
� 	 �:�

	 �
 �	��	� �� ��
�� #E(Fq) Q
 � ������� $�� #E(Fq) ���� ����
�� ����
 �����
�� ��1�
�� ������
>�� ���� $��

� 
���� ��D� ���������� ��� ���$��� �� �����19#���
�� � ������� ρ 4 ���
����� �
 8'5'
#E(Fq) ���� ��� �����<��� ��� �
 �F
��� ���
� n �������� 1�����' ���� ��
����� �
������:�
�� 
����� � ���$�� �� �����19#���
��4 #E(Fq) ���� ��� ���
� �� $���� ���
�4
�� ��D�4 #E(Fq) = hn ���� n " ���
� � h ∈ {1, 2, 3, 4}'
���� ������ � 
���� ���������� � ���$��� �� ��$����� ���1�����4 � 
����
�� " 
���

���������� �����Q #E(Fq! ���� ��� ���
�'

����� ������ � 
���� �����
��

+ ��
��� ���

���&���

� ���� �
 
���� ���
� Fp 4 ��0��9�� 
�
� ��������1����
�
� 
���� ��<���
� E(Fp) ��� $�� #E(Fp) = p + 1' ���� ���� �� 
���� " �.���
���
����
�������� �
 �+���� ����>�� ��� ��� �����
����
���� 2�+1�� � ���$��� � M4 
�
� �����
�
 8'5' #+ 
"����� �0
������ �� ����*�� � ������
� �	�(� �� ������
� �� ��1����
�
���
���� ����� 
���� 0���� ���� ���� ���� �� 
����'

+ ��
��� �������� �	�

 Fq ���� �
 
���� ���
� Fq4 ��0��9�� 
�
� ���
��� �
�

���� ��<���
� E(Fp) ��� $�� #E(Fp) = p' � �.�
��� ��� 
����� ��������1������4 ���� ����
��
�"
 ���� ��� �������'  ���$�� � 
����� ���
���� ���
���� �
 8'5 ���
��� ��������
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� ���(������ ���� ����������� ����� ������ "�����
��

� ������
� �	�(� �����"� �� ��1����
�� �������� �0
������4 
�
� �� 
�������� ���
��������� �� -�
��� THH℄4 -
��� THI℄ � -���� TCC℄'

& & 4�
�����
	5�� �� ����"�
�� ���,

����� 
��+

� -�	, ��
����
� �� -�������� 2�� �S
���� 	�@���1����@ ,����! " �
 
���)�
�� ��
���F������ 2������ �
 CII6 
�
 � ��D����� �� ����������� ����>�� 
�
��
���� $�� 2�
�����

� ���
�� �0
����� �� 
�����1��0�4 1��������� ������������������ ����� �
� 1�
� �������
�� �����2��
�� �� 
�
����
��' -��� 
�
���� ��
���
 
�
������� �� ����� �� ��
����1��
� )�1��� 1������
������ �� +��� �� ��1����
� �� ��2��
�
��'

����� ����
��
�%'� 
�� �

 ����)���� ����� ����
�0
�
�� " ������ �.�
���� �� ���;
����� �� ��
<��� ���� 
�����
��<���
�� ��� �<���� ��$������� �� ��1����
� ���� ����
�0
�
�� -�	 C4 ��
 
�
� �����
����>�� ��-� PI'854 ��-� PI'8E � ���� �CE8E' � ����
�0
�
�� ��
�
���� 2����
����
$�� �� �
���
����
>�� �� �		 ����
����
 ���;
����� � ������ �� 
��D���� ������� ��� ���
������� �
� 
���� ������������������ ����� �����
�� $�� �����
 ����
>�� �� 
�����1��0�
�������� �
 
����� ��<���
��'
�
���
����
>�� $�� �0�
���
 ����� �
 
��2��
����� 
�
 ���� ����
�0
�
�� ����


2�*�� ��� �� ��1�
 ���
��D���� ��� ���;
����� ��� ���� ��
�
������� �
 ���� ��$��
��
�� 
�����1��0� 
������<��� ����� 
����� ��<���
��' -��>�9�� $��4 ����
�
����4 �� �
���9

����
>�� $�� ��������
 �
 
��2��
����� 
�
 � -�	 5 ������� � 
��
� 
�
 ����
�� /
-�	 C' %�����
����4 � 
���)�
�� 
���
��+ / �������
�� ��� �
���
��������� �
 �����
�
$�� ����� ����0
�� 
��2��
�����' �����
���� ���+ ������<��� �
 �������� $�� ���� ���
�����*��� �� ����0
�
�� �� �	�# �,���
�� �� 
����� �����*���� � ������ ��S�9#���
��
����� 
����� ��<���
��! � �	�-� ����������� ��1���� �����*���� 
����� ��<���
��!'

"4"4�4� $�
%�
�
	� �
 �	����	 ��
� Fp

� -�	 5 ����� �
 
��D���� �� ���;
����� � ����
 �����*���� $����� � 
���� ����� �
$��� �� 
����� ��<���
�� ��� ��0����� " Fp'
�� �
���� 
�
 
�����
�� �� ����
�0
�
�� -�	 C4 �� ���;
����� �� ��
<��� ����


����� ��<���
�� ����� Fp 
�������
 ��
 �:.����� ���� ���Q T = (p, a, b, G, n, h)4 ����Q

• p " �
 �F
��� ������� ���
� $�� ����
�0
� � 
���� 0���� FpW

• a, b ∈ Fp4 $�� ��0��
 �
� 
���� ��<���
� E(Fp) : y2 = x3 + ax + b (modp) W



�	�	 )�
����
��$�� 
� ����*�
�� +"�, EC

• G = (xg, yg) " � �����9���� ����� E(Fp)4

• n " �
 �F
��� ���
� 
������������� / ����
 �� �����9���� ,W

• h " �
 �F
��� ������� 
������������� �� 
�92���� h = #E(Fp)/n'

 � ���;
����� �
�
� ��� ������������� 
�
� �
 
��D���� �� �
�����4 �� �
���� 
�
 �
����
�0
�
�� -�	 C' ��� ��
�
���� ����� �������1� � ��
���� �� � �� ��� 2��
� log2 p ∈
{112, 128, 160, 224, 256, 384, 521}' ���� ��
 ��� ��D����� ��
���D�� � ������������������
����� �� �
���
����
>�� $�� ��1��
 �� ����
�0
�
>�� �� 
���)�
�� -�	,' ��"
 �����4 ����
������� ��� �
 ����
����� �� 1��� �� ��1����
� ����
���� ��� ���;
����� �� ��
<���4 ����
$��Q �� log2 p = 2t4 ����� �:
9�� t ���� �� ��1����
�' ���� ��1��0
� $�� ���� �� �������� �
������
� �� ��1����
� ���
���� �����
 ��
���+���� ����.�
���
���� 2t �����
>��'
 � �F
���� ���
�� p ����� �� $���� � 
���� Fp " ��0���� ��� ��
������� �� 2��
� �

2�
������ �
���
����
>�� �0
������ 
�
� �� ���
����� �
 TJ℄' 	��� �� 
����� ��
���+���
���.�� � ��
���� �� � ��� 2���� �� 2��
� �����)��� ������ � ��
���� 
�
��
���4 � ����
�9
0
�
�� -�	 5 �����+ ��� �������� ���� 
����� ��� ��$������' �� ������ 
��� ��
����4 ��
���;
����� �� ��
<��� ����
����� � 
��� ����� �� p 
�������
 �� ���� 
��D����� ������9
���Q �
 ���� �� 
����� �� K�����* � ����� ���� ���;
����� $�� �����
 ���� ��1���
����
��
������� ���������
����' ���� ��1����
� ���� �.�����
�� � ���� �.���
�
���� ����4 ��
�������4 ��� �+ ��
�� �� 
����� �� K�����*'
���;
����� ����
����� /� 
����� �� K�����* ���
���
 �
���
����
>�� 
���� �0
������'

���� 
����� ��� 
��� 
����
���� 
�
� �� ���� ���
��� ����� F2m 4 
�
 a, b ∈ {0, 1} TE5℄'
�$��4 �+ �
� 1�������*�
�� ���� Fp ���� 
����� $�� ������
 ����
��0�
� 
��
����� ��
2��
� �0
����� T57℄'  � ���;
����� ����
����� /� 
����� �� K�����* 2���
 ��
������� ��
��� 2��
� $�� � 
���� ���������� ������� �
� ����
 
������������� � �
 �F
��� ���
�'
 ��1���� 
��D���� �� ���;
�����4 ��� ��� ��*4 �2���
� ��1�
�� 
���
���<���
�� ���9

����� 
������������' ���� ��� ��
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T = (p, a, b, G, n, h)'
Fp " ��0���� ���Q
p = 2192 − 232 − 212 − 28 − 27 − 2

6 − 23 − 1

	���� E : y2 = x3 + ax + b ��0���� ���Q a = 04 b = 3
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�
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���Q
, \ 7E�3G%%C7�	7HJ�I��5837J�75673J%GEGC��H�C3C���78	J�
� ���9
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���Q
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���� ��� ����� ���� �"����� T = (m, f(x), a, b, G, n, h)4
����Q

• m " �
 �F
��� ������� $�� ����
�0
� � 
���� 0���� F2m W

• f(x) " �
 ������
�� �������<��� �� 1��� 
W

• a, b ∈ F2m ����
�0
�
 � 
���� ��<���
� E(F2m) : y2 + xy = x3 + ax2 + bW

• G = (xg, yg) " � �����9���� ����� � 
���� E(F2m)W

• n " � �F
��� ���
� $�� ����
� � ����
 �� G

• h " � 
�92���� #E(F2m)/n

-�1����� ��
�
����
�� �� ����
�0
�
�� -�	 C4m ∈ {113, 131, 163, 193, 233, 239, 409, 571}'
��"
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 ��� �� �������� �� ������ E'E'
����� ������
>�� �:
 ��� ��D����� ��
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���� F2571 ��
 ����������
�� ����
���� �� ������
�� f(x) = x571 +x10 +x5 +x2 +1
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���� E : y2 + xy = x3 + ax + b ����� F2m" ��0���� ��� a, b ����� ���Q
a = 1

b =75%G7�J�555C%5IH��5IJCCJ3J%E�85%H	8�IJ%%	36	�%%C	�83�6	�
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	���� ������
��� �� ����
��

F2113 f(x) = x113 + x9 + 1
F2131 f(x) = x131 + x8 + x3 + x2 + 1
F2163 f(x) = x163 + x7 + x6 + x3 + 1
F2193 f(x) = x193 + x15 + 1
F2233 f(x) = x233 + x74 + 1
F2239 f(x) = x239 + x36 + 1�� f(x) = x239 + x158 + 1
F2283 f(x) = x238 + x12 + x7 + x5 + 1
F2409 f(x) = x409 + x87 + 1
F2571 f(x) = x571 + x10 + x5 + x2 + 1

������ E'GQ ���;
����� ���� 	����� 3��+���� �-�	 C!
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��
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��
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��
�CEC�5 E'E'5 8G CEC J7G �
��
�C8EAC E'G'C 67 C8E C75G A
��
�C8E�C E'G'5 67 C8E C75G �
��
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"����� ���� �����
���
�� �� ����
 �� 
����� ��<���
��4
���� ��� ���� 1�����*� �� 1����� �
����;�
�� �� ����
�� �� ���;
����� �� ��
<��� ��1����
�
 �����
�� 
�����1�+0
�� �������� ������ 
�����'
 
��D���� �� ������ ������ ����� �
� 
���� ��<���
� E(Fq) ��0���� ����� �
 
����

0���� Fq 4 D����
���� 
�
 � �����
�� ���+��� �� ���
�� �� ������4 2��
�
 �
 1����
��������' � ����
 n �� ��� 1���� " ���� ���� �F
��� �� ������ �� 
����' ���� $��
��� 
���� ��D� �
���+��� ���� �2����� �� 
�����1��0�4 ��� ����
 ���
��� �����2�*�� ��1�
��
������
>�� $�� ��0
����
 � ����
�� �� ������
� �� �	�(�4 ���������� �
 �����
����

���� ���
���<���� � ���$���'
��1�
�� ������ ������
>�� ���Q

• n = s.r ���� r " �
 �F
��� ���
�4 s " �
 �F
��� �������4 � s ≪ r' ���� ��1��0
�
$�� �+ �
 ���91���� �� ����
 ���
� �� ����� r ' ]����� 
��� ���� 2�� r 4 
���
2���� ���+ � 
���� �� ����� �� ����� �� 
�����1��0�'

• n = q4 ���
�4 ��� " �
���+���4 ���� $�� ���� �
���
���� ��
� 
���� ���
���4 �4
��������4 2��
� ���� ����
�
>�� �
 
�����1��0� �
�
 �.
�
�� ��� 
����� �� K�����*!'

• n ��� ���� ��� �
 ������� �� ql − 1 4 1 ≤ l ≤ M ���� ���������� ��
� 
����
��������1����4 �4 �������� 2�+1�� � ���$��� � M4 
�
� 
������� �
 8'5' � 1�����*�
M �+ �
� 
����� �� 1��� �� ��1����
� �
 ����
�� � ���� ���� �� ���$��4 � "

����
��� 
�
� ��
��� �� � M' �
 1����4 �
 ����� �� 57 " ��0
����� ���� ����1����
�
 1��� ��*�+��� �� ��1����
�'

���� 
��<���� ���� 
�
 2��
�� �� �� �����
���� � ����
 �� 1���� 2��
��� ��� �
� 
����
��<���
�4 $�� " �
 ������
� ���9�������4 �� �����
�� �
 
��������
�� $�� �� �F
����
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����4 ���� $�� �� ����� �
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���+��� �� ��1����
�!'
�� 
��<���� �������� 2���
 �������� ����� �� 
����� 
�
 ���� ������������ ���� ���

�
 
�����1��0�Q

• 	����� 	�Q ���� ���� �� 
���� " 
������<�� � ������ �� �
 ����� ���� 
�
 �������
���� � ����
 �� 1���� 1����� ���� 
���� ��<���
�' � ����
4 ��������4 D+ " 
����
���'

• 	����� �� K�����*Q ���� � 
���� F2m ��
�� $�� �+ ���� ������� ���� � 
�2����Q {2, 4} 4
� $�� ��
���0
� �������� � 
+�
��� �� ����
 �� 
����' ��
�"
 ���+ ��������� �

��� �� 
���
���<���
� ��2������ �� 5'

• 	����� �����)����Q ���� ���� ���� �� 
����4 " ��
���+��� 
+�
��� �� ����
 � ����0
�
��
�� �.���:�
�� �� ���91���� 
�D� ����
 ��D� ���� ��� �F
��� ���
�4 
�
� 
�
������
�
�
�'

( � 6�����
 �� !
���

���� �
 
���� 0���� Fq � �
� 
���� ��<���
� ��0���� ����� ��� E(Fq) 4 � �F
��� ��
������ ����� ��� 
���� " ���� ���

#E(Fq) = q + 1 − t

���� t 
���������� �� ���
� �� %�������� �
 $'  
��� �� %�������� �� ���:�
�� $4
������������ ��� φ : E → E 4 " ��0���� 
�
�Q

{

τ(x, y) = (xq, yq)

τ(∞) = ∞
� � φ ����
����
9�� �� ��1����� 2��
�Q φ2 − [t]φ + [q] = [0]'
 �����
� �� #���� �0�
� $�� � �����2�* � ��1����� ����
��Q |t| ≤ 2

√
q' ��� ��������
�

�
 ��������� �� 
�
���
���� 4
√

q �
 ����� �� ����� q+1 ���� ������� $�� t ���� ����
��'
�
� ��
������
�� ����� �����
� ���� ��� ��
������� �
 TH6℄' ���� ����
�� 2�
����� �

���
�� �� ��1����
�� �� 
+�
��� �� �F
��� �� ������ �� E(Fq) �� �������1�� �� �������
$�� � ����
 �� 
���� ���� ����
��'

( # ���
��� �
 $���� �� ,����

 �����
� �� #���� � �� ������
>�� �������� �� ��<
�� ����� 
��<���� ����
 ��� �����*�9
��� �� �����
���
�� �� ����� �.��� �� ����
 �� 1���� 1����� ��� �
� 
���� ��<���
�'
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�� $�� �
 ���� �F
��� m ����� ���� ���� 
�
� ����� #E(Fq) 4 ���� �
�

���� ��<���
� ��0���� ����� � 
���� 0���� Fq' �� ��1������ ����0
�
>�� ����
 ��� 2�����
���� $�� ��D� ����1����� $�� ��� ����� " �� 2��� � ����
 �� 1���� ����
���� / 
����'
]���$��� �
� ����� $�� 2���� " �
 ����
����� �� $�� � �F
��� ��� " � ����
 �� 1����4
�� $�� � 
���� ��� " ���$���� ���� 
�����1��0�'

• ����0
�� �� q + 1 − 2
√

q ≤ m≤ q + 1 + 2
√

q W

• ����
����� ���������
���� �
 ����� P �� 
���� E � ����0
�� �� [m]P = ∞' 	���
� ��1����
� $�� 2����
�� � �F
��� ���� ����� 2����
� 
��� �� �
 ����� ���� ���
����0
���4 � 
����
�� �
�
� ���� ��� �������� �
 
��� �
 �����' � ������*�
�� ��
�+���� ������ ������ ��"
 �� P ��
���� � ������������� �� $�� � ����� $�� ������
����� ������ ��D� �� 2��� � ����
 �� 1����' _ ��
���+��� ��1�
� 1������� �� $��
����� �� ������� �������� ���� ��1����
� ���� ����0
�
�� ����D� �$���� $�� �� 2��� "
� ����
 �� 1����'

• ����0
�� $�� � 2�����
�� m = s.r 4 " ����<���4 
�
 s ≪ r ' _ ��
���+��� $�� r ��D�
���
�' 	��� [s]P = ∞ 4 ����9�� ��
����� �
 ���� ����� ���� �.�
�
�� �� �����' �

����
�� r > 4

√
q 1������ $�� m " � ����
 �� 1���� � $�� ��� �+ �����
 �����


F������ �� r �� ��������� �� #����'

( & ����
� �� 7�����+

�� 
����� �� K�����* �:
 �
� 2��
� �������� ��
���� ���� 
+�
��� �� �F
��� ��
������4 
�
� 
������� ����.�'

-�D�
 E �
� 
���� ��<���
� ��0���� ����� Fq 4 c1 ��� ���
� �� %��������4 Z(E; T ) =

exp(
∑

Nn

n
T n) , n ≥ 1 �2��
�� *���! � Nn = #E(Fqn) ' K�����* TE7℄ 
����� $��

Z(E; T ) =
P (T )

(1 − T )(1 − qT )

����
P (T ) = 1 − c1T + qT 2 = (1 − α)(1 − α)


�
 ���
��
������ ���9��������4 � α 
�
 
�1������
√

q'
� ������ �� ��������� �
�
�4 Nn = #E(Fqn) = qn + 1 − αn − (α)n

( ( -8���� �� ��
�9� � -�����

���� 
"���� " ���
���� �
 TCE℄ � ������9�� �� �"
��
� 3-,- �`3��@ -��� � ,���� -���a!4
� $��� 
������� �� 
+�
��� �� ���� �"���� �� ������� �� ��
���� ��� ������ �� 
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"���� ��
 ��� ��D����� �����
����
� ����
 �� 
���� ��<���
�4 ����� 
�
���.����� �� ����
 �� O(q1/4+ǫ) ' ���� �������

���� ����� �� q ���� ��1����
� " �����$����' ��� ��).�
�� ��
>�� ����� ������ ��
>�� ��

���� 
�
���.�����'
�� �����
� �� #����4 ��
�� $�� #E(Fq) = q + 1 − t4 ���� |t| ≤ 2

√
q ' -�D�

t′ = t +
⌊

2
√

q
⌋

∈ [0, 4
√

q] � ��� ����� �� ��1����
� ����.�'

�(, ���� Q 	+�
��� �� �F
��� �� ������ �� �
� 
���� ��<���
�

�������Q Fq4 E(Fq)

-�^��Q #E(Fq)

C' Q ← (q + 1)P ���� ����� P ����� � 
���� ���������
���� ��
������'
5' Q1 ← Q + [

⌊

2
√

q
⌋

]P

E' m ←
⌈

2. 4
√

q
⌉

G' ���� j = 0, ..., m−1 
��
���� � ��
�*���� [j]P ' ���� 
���������� ��� ������ ��$�����'
H' ���� i = 0, ..., m − 1 
��
���� Q1 − [i]([m]P ) ��" $�� � ��������� 
���
��� 
�
 ��1�

[j]P 
��
����� �
�
�' ���� 
���������� ��� ������ 1������' ]����� � 
���
��:�
�� ��
������� " ������4 ��
�� t′ = im + j' ���� $�� t′ = t +

⌊

2
√

q
⌋

��
�"
4 � �����
�� �� t "
������'
8' �������� M = q + 1 − t

( * ��������� �� �
����

���� ��1����
� ���� �����
�� �� #E(Fq) ���������� �
� 
������ ��1��0
����� �

����
�� �� �� -���A�9������4 $�� ����� 1��� �� 
�
���.����� O(q1/4+ǫ)' -�� 1��� ��

�
���.����� " O(log8q)' ��� ������9�� �
Q

• �����
� �� #���� #E(Fq) = q + 1 − t, |t| ≤ 2
√

q

• �� �����
���
�� �� t 
�� l ���� l ���
� �����2�*����
∏

i=2,...,max li > 4
√

q 4 ����
lmax " � 
���� ����� ���� � $��� � ����1������� " ����������'

• �����
� 
���:� �� ������4 $�� ���
��� ����� t � ������ �� t 
�� li

• 
��� �� %�������� φ �
�
� 
������� �
 G'C!4 $�� �����2�*

φ2(P ) − [t]φ(P ) + [q]P = ∞
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���� ��<���
� E(Fq) ��0���� ����� ���'
-�^��Q �F
��� �� ������ �� E(Fq)

C M ← 24 l ← 34 S = {(t
�� 2, 2)}
5 ��$����� M < 4

√
q 2�
�Q

5'C ���� τ = 0, ..., (l − 1)/2 2�
�
5'C'C ���
���� P ∈ E[l] $�� �����2�
� φ2(P ) + [q]P = ±[τ ]φ(P ) � ���� �����
��
� $����� ��
����+9��
5'5 S ← S ∪ {(τ, l)} �� S ← ∪{(−τ, l)}4 ���������� �� ����� ���� � $��� P 2��
������ �
�
�'
5'E M ← M × l

5'G l ←���
� $�� ��
��� l

E  ���� t ������ � 
��D���� S � � ��1����
� 
���:� �� ������ ���� TH8℄4 �+1��� CE!
E �������� q + 1 − t

�
���� ���� ��1����
� ��������� �
 1���� �� ����
����� �
 ����
�� � -���A�9
������4 ��� 
�
���.����� ����� " ���� ���� ����
+9�� � ������� �������� �� q ���$�����
���� ��� �
 
�����1��0�'  ��1����
� ����.� ��������� 
���� 1��� �� 
�
���.�����'

( . ��������� �� �
����0��9���0��9��

���� 
"���� " �
� �.������ ��$���� ����� �
 G'H � ������� �� ���
�� �� ��<*��
�� �$��
�� 
���
���<���
� �� 
��� �� %�������� Fl(u) = u2 − tlu + ql = 0 
�������
�
 Fl ��$������������ � ∆t = t2 − 4q ��� �� ��� ���* $������� �
 Fl!' �
 
��� ��������4
l 
���������� � �
 �F
��� ���
� �� ��A���W 
��� 
����+���4 
��������� � �
 �F
���
���
� �� ��A��'
	�
� ��� �����
�� �� t ���� 2�*�� � ����0
�
�� �
�
�4 " ��
���+��� $�� �����*�
��

� ������
�� 
������ ���� ��0��
�� �
 5! ���� �����
���� $��� � ���� �� �F
��� ���
�
��
�� �
 
���'
	��� �����
�� �
 �F
��� ���
� �� ��A���4 ����
�� 
�������� �
� 
���� ��)1���

�� 1��� l 
�
 ������
�� 
���
���<���
� $�� ����� ��� ����� ���� ������0
��
�� λ ��� $��
(xq, yq) = [λ](x, y) 4 ���� (x, y) 
���������� � �
 ����� ����� � 
���� ��<���
� E(Fq)'
	��� �����
�� �
 �F
��� ���
� �� ��A��4 ����
�� ����� � ��2��
�
�� ��2������

�� ���
��D���� �� ������� ����<���� ���� t 
�� l '  ��
���� �� ��� ���
��D���� "
�����
����� ���� 2��
�� �� ����� φEul(r) 4 
�
 r ≤ l + 1'
 ��1����
� ���������� ���+ 
������� ����.�' ������� �������� ��2������� / �
���
��9
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�� ����
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C' M ← 14 l ← 24 A ← {}4 E ← {}
5' ��$����� M < 4

√
q 2�
�Q

5'C' �����"� �� ������
�� 
������4 ��0��� �� l " �F
��� ���
� �� ��A�� �� ��A���
5'5' -� l 2�� �F
��� ���
� �� ��A���4 2�
�Q
5'5'C' �����
���� ������
�� 
���
���<���
� fl(x) ���� ���1���� 1��� l

5'5'5'  ���� ����9����� λ 
�� l ���� fl(x)

5'5'E' t ← λ + q/λ �
�� l!
5'E'G' E ← E ∪ {(t, l)}
5'E' -����
5'E'C' �����
���� 
��D���� T ��� $�� t �
�� l!∈ T

5'E'5' A ← A ∪ {(T, l)}
5'G' M ← M × l

5'H' l ← �F
��� ���
� $�� ��
��� l

E' ��
������ t � ������ ��� 
��D����� A � E

G' �������� q + 1 − t

� ����� �� ��1����
� �������� �� �����
���� �� �F
���� ���
�� �� ��A�� ��
 
�
9
���.����� �.�����
���' ]����� 
���� 2�� � $��������� �� ���� �F
���� �������� ����
��1����
�4 ����� 
��� �0
����� ��� ���+' ���� ��� ��
������ ������ �
 ���
��D���� ������
�F
���� ���0
����� ���� $�� t ����� ��� ��
�������! �� 2��
� � ��� ������*�� � ��1����
�

�
� �
 ����'
� ����� �������� �� �����
���� ��� �F
���� ���
�� �� ��A��� ��
 
�
���.�����

O(log q)6'  ��1����
� ���� 1������� $�� � 
������ ��� �F
���� ���
�� � ����
 ��������
��D� ����� ���� ���� ��� �
 ��
 ����
�����' %������ ��� 
�
����� ����� �� �F
���� ��
��A��4 ����������4 ��� " �
� ��
�� ��1���� �� ��+��
�4 ��� ���������� ��1�
�� ������9
��1���'
���� 
��<���� 
������ ��1�
�� 2��
�� ���� �����
���
�� �� ����
 �� 
����� ��<���
��'

��� 1�����*� ��
 �������� �����;�
�� �� ��
���� �� ���;
����� �� ��
<��� �
 �		4 ��
2��
� � ���9�� �
 �����
� ��1���' ��1��� ��� ���$��� 
��� �0
�*�� 
����� �����
�� �		
��� �������� �� 
+�
��� �� ��1����
� ���
���� ����� 1����� 2��
���� � ������ ��� ������
�� 
����� �����9��<���
��'  
��<���� ��1����� ���
���� ����� ���� 
�����'
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�����1��0� �����*���� 
����� �F���
�� ��� ��S�9#���
��4 �
�
��������� �� 1����� ��
 ���� ����� 
�
� �������4 ���� 
�
� 
����� 0����� � 
����� ��<���9

��' #+ ����>�� ��0����� ����� ����4 ��
 
�
� �
� ����� 1�
� �� ����
�
>�� 
�
��
����'
��
����
����4 
����� �����9��<���
��� �� 1���� ���.� �:
 ���������� ��������� ���� ���9
��*�
�� �
 
�����1��0�'  �������� �������� ����� +��� 2�� ������������ ��� K�����* TEC℄4
$�� ����>� � ��� �� &�
������ �� �
� 
���� �����9��<���
� �
�1��+��� �� ���
� �� 
�����'

�
 ��$��
� ��
������� 2�� ���������
���� �������� ��� -
�������4 
�� ����� 
�����
�����4 �����*���� � ���� �� 2��
>�� ��1������ �� 
���� � ��� ��2��9��������� ��
������� �
1���� 
�
� �������' �
� 
���0
�
�� ����� ��$��
� �������� �
 THG℄ ��� ����������
1���� ��1��0
����� �
 ����
�����' &�
����� T8C℄ ������ �
� ������1�
 ������� �

��������� ����
"��
�� ���� 
���� �����9��<���
� ���� ��0���� ����� �
 
���� 0����'  
��� �� ���� ��������� �������� �
 �����
��� ����.�
���
���� CHd 
��� �+���� $�� �

�����
����� �$�� ��� &�
������ �� 
����� �<���9��<���
�� �
�1��+����!'

��������� ����� ����
����� � ��1����
� �� 
�����1��0� ����� 
����� �����9��<���
��
��� ���������� �����
����4 ��D�������� ��
����� � ��2����
� ����� �.������� �
 ����
��
/� 
����� ��<���
��' �� 
����� �����9��<���
�� ��� ��
 
��� ���������� $�� �� ��<���
��4 �
�
������9�� $�� � ������
� �� ��1����
� ���
���� 
������������� ����� �������� �
 �
���9

����
>�� �
 
�����1��0� 
��� ��1���� $�� �� �� 
����� ��<���
�� ���� � 
��
� ��
����
�� 
����' -�� ���
�� ��� ����>�� �
�
� #�--( ���� ���� �
 TEG℄4 ��� �.�
���! �����
��� 2�� 
����������4 �� �������'

�� ��
>�� ��1������ ���������
 �
� ���
��
�� 
��
������ �� 
����� �����9��<���
�� �
��� 
�
����
�� 
�������
���� �������*���� ���� ��� �
 
�����1��0�' �� ��
������
>��
��� ����
>�� �������� ����.� ����
 ��� ������ �
 TE7℄'
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	����� �����9��<���
�� ��� �
� 
����� ����
��� �� 
����� ��1"���
�� � 
��������
9��
��
� 1�������*�
�� �� 
����� ��<���
��' #+ 
����� �����9��<���
�� ���� 
��� ����� ��
1���� 
���� �� �1��� � C' ]����� � 1���� " C4 ��
�� �
 
��� �
� 
���� ��<���
�'

-�D� K �
 
���� � K ��� 2�
�� ��1"���
�4 ��0��9�� 
�
� 
���� �����9��<���
� �� 1����
g ����� K (g ≥ 1) � �$��
�� �� 2��
�

C : v2 + h(u)v = f(u) , �
K[u, v]

���� h(u) ∈ K[u] " �
 ������
�� �� 1��� �� 
+.�
� �1��� � g 4 f(u) ∈ K[u] " �

������
�� 
���
� �� 1��� 2g + 1 4 � ��� �+ ������ �� ���1���������4 �� ��D�4 ��� �+
����
�� (u, v) ∈ K × K $�� �����2�
� � �$��
�� v2 + h(u)v = f(u) � ����� �� ���������
���
���� 2v + h(u) = 0 � h′(u)v − f ′(u) = 0'

���� �
� �.������ L �� 
���� K 4 �� ������ ��
������ �� L ����� C 4 ����
������
C(L) 4 ��� � 
��D���� �� ������ P = (x, y) ∈ L × L $�� �����2�*�
 � �$��
�� �� 
����
�����9��<���
� D����
���� 
�
 � ����� �� ��0���� �∞!'

-� P (x, y) " �
 ����� ����� � 
���� �����9��<���
�4 ��0��9�� 
�
� ��� ������ � �����
P̃ = (x,−y−h(x)) 4 $�� ��
�"
 ���+ ����� � 
����' -� �
 ����� � ��� ������ 
���
���

�
�
�4 ��� �.�
���4 ∞!4 ���� ��� ����� ����
����W 
��� 
����+���4 ��� ����� 
�
���'

�� ��
>�� ��1������ 
�����
 �
� �"��� �� ���������� $�� ����
 
��1�� / ��0��
�� ��
D�
������ �� 
���� �����9��<���
�' ��� 2��
� � 1���� ����� � $��� � 
������ �� �
���
��9
��
>�� �� 
�����1��0� ����� ���� ���� �� 
���� �� ������'

* # :��	5�� ��������
�� � 4

���
��

��0��9�� 
�
� ���� �� 
���������� �� C ����� K 4 � ���� $��
����� K[C] = K[u, v]/(v2+

h(u)v−f(u)) 4 ���� (v2+h(u)v−f(u)) ���������� � ����� �
 K[u, v] 1����� ���� ������
��
�������<��� ����� K̄ ���� ��� v2 + h(u)v − f(u)'

�� 2��
� ��
�������4 K̄[C] = K̄[u, v]/(v2 + h(u)v − f(u)) " � ���� �� 
���������� ��
C ����� K̄' �
 ���
���� �� K̄[C] " 
��
��� 2��
�� ������
��� �
 C'

���� �
� ���� 2��
�� ������
��� G(u, v) = a(u)− b(u)v �
 K̄[C]4 ��0��9�� 
�
� ���

��D�1��� � 2��
�� ������
��� Ḡ(u, v) = a(u) + b(u)(h(u) + v)'

� ���
� �� G " ���� ��� N(G) = GḠ 4 $�� ��
 �� ��1������ ������������Q

• N(G) " �
 ������
�� �
 K̄[u]

• N(Ḡ) = N(G)

• N(GH) = N(G)N(H) 4 ���� H " �
 ������
�� �
 K[u]
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���� �� 2��
>�� K(C) �� C ����� K " � 
���� �� 2��
>�� K[C]' �� 2��
� ��
�������4
� 
���� �� 2��
>�� K̄(C) �� C ����� K " � 
���� �� 2��
>�� �� K̄[C]'  � ���
����� ��
K̄(C) 
����������
 � 2��
>�� ��
������ �
 C'
���� � 2��
�� ������
��� G(u, v) = a(u) − b(u)v 4 ��0��9�� 
�
� 1��� �� G � �����

���� ��� 1���(G) = 
�.[21���u(a), 2g + 1 + 21���u(b)] ' �� ��1������ ������������ ��
����
�
 / ��0��
�� �� 1���Q

• 1���(G)\1���u(N(G))

• 1���(GH) =1���(G)X1���(H)

• 1���(G)\1����Ḡ)

* & ����� � ;����

-�D� R ∈ K̄(C)∗ � P �
 ����� ����� � 
���� �����9��<���
� C' -� �����
�� R(P ) = 0 4
����� R ��
 �
 *��� �
 P ' 	��� R ��� ��D� ��0���� �
 P 4 ����� P " �
 ���� �� R 4
� R(P ) = ∞'
-�D�
 G ∈ K̄[C]∗ � P ∈ C' -� G(P ) = 0 4 ����� Ḡ(P̃ ) = 0'
���� P (x, u) ����� � 
���� �����9��<���
� C 4 �� G = a(u) − b(u)v ∈ K[C]∗ ����� �


*��� �
 P � x ��� 2�� ���* ���� �
��� a(u) � b(u) 4 ����� G(P ) = 0⇐⇒P 2�� �
 �����
����
���'
-� P (x, y) 2�� �
 ����� ����
��� ����� � 
���� �����9��<���
� C 4 (u − x) ���� ���

��
���� �� 2��
� (v−y)2.S(u, v) 4 ���� S(u, v) ∈ K[C] ��� ��
 ��
 *��� ��
 ���� �
 P '
���� P ∈ C 4 �.���� �
� 2��
�� U ∈ K(C) 4 
�
 U(P ) = 0 ��� $��4 ���� ���� 2��
��

������
��� G ∈ K̄[C]∗ �.����
 �
 ������� d � �
� 2��
�� S ∈ K(C) ���� $�� S(P ) �=
0,∞ �G = UdS ' ��"
 �����4 � �F
��� d ��� ������� �� ��
���� �� U 4 $�� " ����
�����
���;
���� �� ���2��
�*�
�� ���� P '
��� 
����
>�� �������� �
�
�4 � ����
 �� G �
 P " ��0���� 
�
� ����
p(G) = d �

�
���
� ��� ��1������ ����������Q

• ����� G1, G2 ∈ K̄[C]∗ � P ∈ C 4 
�
 ����
P (G1) = r1, ����
P (G2) = r2 4 ��
��
$�� ����
P (G1G2) = ����
P (G1) + ����
P (G2)

• -������ $�� G1 �= −G2 4 �� r1 �= r2 4 ����� ����
P (G1 + G2) = 
��(r1, r2) '
-� r1 = r2 4 ����� ����
P (G1 + G2) ≥ 
��(r1, r2).

• ����
P (G) = ����
P̃ (Ḡ)



�	-	  �������� GI

���� G ∈ K̄[C]∗ 4 G ��
 �
 �F
��� 0���� �� *���� � �����4 �

∑

P∈C

����
(P ) = 0

'
����� R = G/H ∈ K̄(C)∗ � P ∈ C 4 ����
P (R) = ����
P (G) − ����
P (H)'

* ( )��������

�
 ������� " ��0���� 
�
� �
� ��
� 2��
�� �� ������ �
 C
∑

P∈C

mP P , mP ∈ Z

���� �+ ������ �
 �F
��� 0���� �� mP ��� ��2������� �� *���' ��
9��Q

,���(D) =
∑

P∈C

mP

� ����
P (D) = mP '
 
��D���� � �� ����� �� ��������� 2��
� �
 1���� ������� ��� � ��1����� ��1�� ��

���
��Q
∑

P∈C

mP P +
∑

P∈C

nP P =
∑

P∈C

(mp + nP )P

����� ���� ��������� D1 =
∑

P∈C mP P � D2 =
∑

P∈C nP P 4 � 
+.�
� ������� 
�
�

��� ���� ��
 1��� *��� � " ���� ���Q


�
(D1,D2) =
∑

P∈C


��(mP , nP )P − (
∑

P∈C


��(mp, np))∞

���� R ∈ K(C)∗ 4 ��� ������� " ��0���� 
�
�Q

���(R) =
∑

P∈C

(����
P (R))P

-� R = G/H 4 ���(R) = ���(G) − ���(H) � ��
 1��� *���'
 ������� ����
���� " ��0���� �� ��1����� 2��
�Q �
 ������� D ������
���� �� 1����

�� ��������� �� 1��� *��� D
0 " 
��
��� ������� ����
���� �� D = ���(R) ���� ��1�
�

2��
�� ��
����� R ∈ K(C)∗ '  
��D���� �� ����� �� ��������� ����
����� " �
 ���1����4
�������� ��� P 4 ��� ��������� �� 1��� *���'  1���� $��
����� J=D

0/P " 
��
���
&�
������ �� 
���� 	'
-�D� D =

∑

P∈C mP P �
 �������' ��0��9�� 
�
� ������� �� ������� D � 
��9
D���� ���(D) = {P ∈ C | mp �= 0}.
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��

������� ��
�9����*��� " �
 ������� �� 2��
�D =
∑

miPi−(
∑

mi)∞ 4 ���� 
���mi ≥
0 � �� Pi ��� ������ ���� $�� �� Pi ∈ ���(D) ����� P̃i /∈ ���(D) , �.
��� ���� Pi = P̃i �$��
�
���
� �
 mi = 1!' -�

∑

mi ≤ g 4 ���� g " � 1���� �� 
���� 	4 ����� D " �
 �������
����*���'

* * ������
� �� ��������
�
 �
��
��� �� ����
� !����0

������

�

�� 2��
� ��
������� / ������
�� $�� 2�� 2���� ���� 
����� ��<���
�� ���� � 
+�
���
�� ��1����
� ���
���� ��	�(�!4 ��
�"
 ���� 
����� �����9��<���
�� ��
9�� � ������
�#	�(�4 (�1����
� ���
���� ����� 
���� �����9��<���
�! $�� 
������� �
Q ���� �
�

���� �����9��<���
� C ��0���� ����� �
 
���� 0���� K 4 � ����� ���� ��������� ����*�9
��� D1, D2 ∈ B(K) 4 �����
���� � ������� �������� l ��� $�� D2 = lD1 4 ����� $�� ���
�F
��� �.����'
���� ����)���� �� 
�����1��0�4 � 
���� � � 
���� �����*���� ���� �
���
����
�� ����


��� ���� $�� ��� ��D� 
����
��� �����
 ��1�����
� ���9�.�����
��� ���� ������
�� ��
������
� #	�(�' ����
 ��� ��������4 ��� �.�
���4 �� ���;
����� 
������ �
 TH7℄4 T5G℄4
TGI℄ � TCG℄' ��"
 �����4 ���� $�� � �
���
����
�� ��D� ��+��
� � �0
�����4 �� �����
>�� ��
1���� ����
 ��� ��������
���� 2+
��� �� ����
��'  D�
������ �� �
� 
���� �����9��<���
�
��0���� ����� �
 
���� 0���� " �
� ��� ��
>�� ���� ��� 1����'
 
���� 0���� K � ��� ��
������ ���� ��� ��� $�� �����
>�� ����
"��
�� �����
 ���

�0
�����
���� �
���
������� ����� ���' � 
���� C � ��� ��
������ ���� ��� ��� $�� � ����

�� D�
������ J(K) �� C ��D� �����<��� ��� �
 �F
��� ���
� 1����� r ' -� K = Fq 4 r ���
���� ������� qm − 1 ���� ��$����� ������� �� m 4 ������� ������ � ���$�� �� %��@ TCI℄'
���� 
��<���� ���������� � 
��
���� �� 
����� �����9��<���
��4 
�������� ��1�
�� ��9

��
>�� �� ������
� �� ��1����
� ���
���� $�� ����
 
�
���
���� � ��1����
� �� ���9
��
�� �		4 
��� �� ���;
����� ��� ��D�
 
���������
���� ��
�������' �� ��).�
� 
��<9
���� ����� ���
������ ��1��� ���$��� 
����
���� 
����� �		 � �� 
������ $�� ����
 ���
�������� ���� ������ �� �����
�� �		 
���� ������+���� � ����'
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 ������ �����
��'
��������4 2�*9�� ��
���+��� �
� ������
�� 
��������� ��� ����� ��
��������� �� �����
�


�����1�+0
� ����� 
������<��4 ���� $�� ���� ��� ��D� ������*��� ��� �� ����
��� ��
��1����
� � ����
�����' ���� ��
��������� ���� 2����
�� 1���� ���� � ��
���� ���$����
��� ���;
����� �� ��
<��� �� �����
�'

. # ��
<���

 � ���$��� 
����
���� 
����� 
����� ��<���
�� ����
 ��� 
�����0
���� �� �
���� 
�

��� �����1:�
�� �
 1����� � ����
<0
��'  � 1����� ��� ���� $�� ��� ��
�� �� �.�
�
��
������� ���
����
���� �� ��
���� ��� ���;
����� �� 
���� ��<���
�'  � ����
<0
��
�������
 �� ��1��� 2������ �����
������ �� 
���� ��<���
� �
�
� �F
��� �� ������4 ���
�.�
���! ���� $�� �����
 ��
 ����
�����' � ������ 8'C ����� �� ���$��� � ����
 ������
����� ��
�� � ���� �����
����� 
�����0
�
>��'

,���� !�*���./�����	

-�D� �
� 
���� ��<���
� E ��0���� ����� �
 
���� 0���� Fq � P ∈ E(Fq) �
 �����
�� ����
 n' ���� Q ∈ 〈P 〉 4 � ������
� �� ��1����
� ���
���� 
�������
 �
 ��
������
l ∈ [0, n − 1] ��� $�� Q = lP '
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-�D� � ��
�
����
�� �� n �
 2������ ���
�� ���� ���

n =
∏

i=1,...,r

pei

i

 ���$�� �� �����1 � #���
�� ����* � ������
� �� ����� l �� ������
� �� �����
��1����
�� ���
����� ��� ���1����� �� 〈P 〉 �� ����
 ���
� pi' ����� 2��
�4 � ��0
������
�� �� �������� �	�(� ����� 〈P 〉 �$������ � ������
�� �� �	�(� ����� �� ���1�����'
���� 
�.�
�*�� � ������:�
�� �� �����
� � ���� ���� �� ���$��4 P ���� ��� ��
������ ��
��� 2��
� $�� ��� ����
 n ��D� �����<��� ��� �
 �F
��� ���
� 1�����'
� ������"1�� ����
��� ����� ���$�� 
�������
 �
 ����� li = l
�� pei

i , 1 ≤ i ≤ r �
�������� �� 
��1��:�
��� l ≡ li (
�� pei

i ) ���� l ∈ [0, n − 1]'  �����
� 
���:� �� ������
1������ $�� � ����
�� " F��
�'
 ����� �� li " ��������� �� 
+�
��� �� ei ��1����
�� ���
����� �� ���1���� �� ����


pi �� 〈P 〉 
�
� 
������� ����.�Q

li = z0 + z1pi + z2p
2
i + ... + zei−1p

ei−1
i , zi ∈ [0, pi − 1]

	+�
��� �� z0Q Q0 = n
pi

Q = l( n
pi

P ) = lP0 = z0P0' ��<4 �������9�� �	�(� �
 〈P0〉 ����
����� z0'
	+�
��� �� z1Q Q1 = n

p2

i

(Q−z0P ) = n
p2

i

(l−z0)P = (l−z0)(
n
p2

i

P ) = (z0+z1P−z0)(
n
p2

i

P ) =

z1(
n
pi

P ) = z1P0 ' ��<4 ����������9�� �	�(� ���� Q1 = z1P0 �
 〈P0〉 ���"
9�� z1

�� 2��
� ��
�������4 zt ���� ��� ������ � ������ �� �	�(� �� Qt ����� P0

Qt =
n

pt+1
i

(Q − z0P − z1piP − z2p
2
i P − ... − zt−1p

t−1
i P )

,���� !�����


������� THE℄ �+ �
� �"��� �� 
"����� ���� ������
�� �� ������
� �� ��1����
� ���
����
��
� 1�
� ������� �� 1�����' ���� ������ 
"����� �ρ � λ! ��� �������� 
������ �� �����9
����� �� 
�����1��0�' ������ � ���
���� ����� ���+ ���
���� ����� ��
��' ��� ��1����
� ��
����)���� 1���� ���+ ����� �� 
������� �� ����
�� �� �	�(�4 � ��� 1��� �� 
�
���.�����
" �����*��� 
�
� ��2��:�
�� ���� ������� $��� �0
������ ��� �� ������ 
"�����'
-�D� �
� 
���� ��<���
� E ��0���� ����� �
 
���� 0���� Fq � P ∈ E(Fq) �
 �����

�� ����
 n' ���� Q ∈ 〈P 〉 4 � ������
� �� ��1����
� ���
���� 
������� �
 ��
������
l ∈ [0, n − 1] ��� $�� Q = lP '  
"���� ρ 
������� �
 ���
����� � 1���� 〈P 〉 ����� �
$��� � �	�(� " ��0���� / ���
� �� �
 
�
�� ���< � �����1�� / ����� 1��1� $�� ��� �+ �
��
�!4 �������� ���
�*�� � ��� �� ����
� �
 
�
)���' ����� 2��
�4 ��
�����
9�� �����
��������� �� �F
���� �������� (c′, d′) � (c′′, d′′) ���� $��Q

c′P + d′Q = c′′P + d′′Q
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��<4

(c′ − c′′)P = (d′′ − d′)Q = (d′′ − d′)lP

����������

l = (c′ − c′′)(d′′ − d′)−1
��n

�
� 2��
� ���� ���
�*��� �� �� �2����� � ���
� �� 
�
�� 
������� �
 ����
�����
���������
���� �� ����� �� �F
���� (c, d) ∈ [0, n − 1] � 
������� �
� ������ 
�������
(c, d, cP + dQ) ��" $�� cP + dQ ��D� �������� �� ������4 �� ��D�4 $�� �
� 
������ �
����'
 �F
��� �������� �� �����
>��4 ��
 
�
� �� �������� �� ������4 ��" $�� � 
������ �
����
"4 �
 
"���4

√

πn/2'

 
"���� ������� ���� ��1����
� ������� ρ 2�* �
� ���
�*�
�� �� ����
�4 
�������4
�� �������4 � �F
��� �������� �� �����
>��' ���� �����4 " ��0���� � 2��
�� �� �����
��
f : 〈P 〉 → 〈P 〉 ��� $��4 ���� X ∈ 〈P 〉 � c, d ∈ [0, n − 1], 
�
X = cP + dQ 4 ��D� 2+
��

��
���� X = f(X) � (c̄, d̄) 
�
 X = cP + dQ'

-�D�4 ��� �.�
���4 �
� �����
�� �����)���{S1, S2, ..., SL} �� 〈P 〉 4 ��� $�� �� ���
��9
��� �����
 ����.�
���
���� � 
��
� ��
����' ��0����� � 2��
�� �� �����
�� 
�
�
H(X) = j , ��X ∈ Sj � 
����������� aj , bj ∈ [0, n − 1], 1 ≤ j ≤ L 4 ����9�� ��0��� f ��
��1����� 2��
�Q

f(x) = X + ajP + bjQ , ���� j = H(x)

���� �
 ���� X = cP + dQ 4 ��
9�� f(X) = (c + aj 
��n)P + (d + bj 
��n)Q'
]���$��� X0 ∈ 〈P 〉 ������� ��
� ��$V:�
�� Xi = f(Xi−1) 4 
�
 i ≥ 1 � Xi ∈ P ' 	���
�� �����4 ��+ ����� 
������4 ���� $�� 〈P 〉 " 0����4 � � ��$V:�
�� ������+ �
 
�
��' �����
2��
�4 �+ �
 <���
� t ���� � $��� Xt = Xt+s ���� ��1�
 s ≥ 1 � Xi = Xi−s ��
��� $��
i ≥ t + s' ���� ��
������ 
������4 ����9�� �����*�� � ��1����
� �� %��@� TC8℄4 $�� 
�������
�
 
��
���� �� ����� (Xi, X2i) ��" $�� Xi = X2i'  �F
��� �������� �� �����
>�� ��"
�
���:�
�� �� �
� 
������ " �� k = 1.03

√
n 4 
�
 t ≤ k ≤ t + s'

 ���
��� T8E℄ ������ �
 ��$��
� �� ��������*�
�� �� 
"���� �� ������� ρ �� 2��
�
� ����� �
 1���� �� ����
����� ������
����� �� �F
��� �� 
+$����� ���������� ��
���
����
����' �
 ��� ��������4 2�� ��������� F2155 ' � 
+$���� ��)��
� $�� ��1����
���� �������� � ������
� �� �	�(� ������� 
��
� �� E8 ���� ���� 
��1�� � �
� ����
��'
��
�������9�� � ����� �� 
���� ��� 2������ ���
�� ���� $��� � ����
 �� 
���� " ��9
���<���4 ����9�� 
������� � ��1����
� �� �����
� � ���� ���� �� ������1�
'
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,���� 0)1 �0�	�2��3 )4�����3 1�	���	� 

-�D� �
� 
���� ��<���
� E ��0���� ����� �
 
���� 0���� Fq � P ∈ E(Fq) �
 �����
�� ����
 n 4 ���
�' -�D� G �
 1���� �� ����
 n' ���� $�� n " ���
�4 〈P 〉 � G

��� 
<
��
�� � ���
)�0
��' -� 
����1���
�� �����
���� �
 ���
��0�
� ψ : 〈P 〉 → G 4
����� �� ����;�
��� �� �	�(� �
 〈P 〉 ����
 ��� ����*���� � ����;�
��� �� �(� �

G ' ���� ��1�0
� $��4 ����� P, Q ∈ 〈P 〉 , 
�
Q = lP 4 ��
�� l = logψ(P )ψ(Q)'  

"���� �������� � ��1��� 2�� ���
���� ��� ����*��4  A�
���4 M������� �
 TE8℄4 � ����* �
������
� �� �	�(� ����� �
 ���1���� �� E(Fq) �� ������
� �� �(� ����� � �.������
Fqk �� Fq' ��� 2�* ��� �� �
�������
����� �� O���'  �
�������
���� �� ���� ��
�"

����
 ��� �����*���4 ��
 ��
�������� �� ������
�� �� $�� q−1 ��D� �����<��� ��� n �.�1���
�� �
�������
���� �� O���'
-�D� � 
���� E(Fq) 4 ���� q = pm' -��� ������ � � �����
�� �� ���
�� 2��
�


�
 1���� ��������4 
�
 ∞ �������� 
�
� ����������' ���� �����
� �� #����4 � 1����
��
 ����
 #E(Fq) = q + 1 − t , 
�
 |t| ≤ 2

√
q' ��"
 �����4 E(Fq) " ���
)�0
� �

Zn1 ⊕ Zn2 , ����n2 | n1 �n2 | q − 1' E ��
�"
 " 
���� ��<���
� ����� $���$��� �.������
�� Fqk ' ����� 
���4 � �����
� �� O��� ���
��� 
��
����#E(Fqk) � ������ �� #E(Fq)' 	�
�
t = q + 1−#E(Fq) 4 #E(Fqk) = qk + 1−αk − βk 4 ���� α, β ��� �F
���� 
�
���.�� ����
$�� 1 − tT + qT 2 = (1 − αT )(1 − βT )' -� 
�
(n, q) = 1 4 ����
��9�! E[n] ⊂ E(Fq), ��4 �
��
���� ��Q

• n2 | #E(Fq)

• n | q − 1

• φ ∈ Z �� ν(t2 − 4q/n2) ⊂ ���Fq
(E)

-�D� n �
 �F
��� ������� ���
� �������� � p4 � en : E[n]×E[n] → Fq �
 �
�������
����
�� O���' 	�
� 
������� �� ��:���
� �� TE8℄4 ������ ����������� �
 ��1����
� �� 
�
9
���.����� ������
��� ���� 
+�
��� ����� ���� �� �
�������
����' 	�
 E(Fq) 
�
�
��0���� �
�
�4 P1, P2 ∈ E(Fp) ����� �� 
��
� 
�9�����
�� �� 〈P 〉 , P �� ����
n1 4
�� 4� ��
���� ��4 en1(P, P1) = en1

(P, P2).

� ����
�� �� ������
� " 2���� 
�
� 
������� � ��1���' -�D� E(Fq) ���
)�0
� �
Zn1 ⊕ Zn2 4 
�
 n1 | n2 � 
�
(#E(Fq), q) = 1' ����� ������� $�� E[n1] " ���
)�0
� �
Zn1 ⊕ Zn1' ���� P �� ����
 n 4 
�
 n ����� ������� �� n1 � R ∈ E(Fq) 4 � �	�(�

������ �
 ��
������ l ∈ [0, n − 1] ��� $�� R = lP ' ��
�� $�� R ∈ 〈P 〉 ⇐⇒ nR =

∞ � en(P, R) = 1'  ��1����
� ��1����� 
����� 
�
� ����� ��2��
�
>�� ����� l �����9
����� �(� ����� Fp $����� � ����
 �� P " 
+.�
�'
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�(, ���� Q 	+�
��� �� ����� �� ������� ������� �� ��1����
� ���
����

�������Q P, R ∈ E(Fq) 4 
�
 ����
 �� P 
+.�
� n1 � R = lP

-�^��Q l′ ≡ l (
��n′) 4 ���� n′ " �
 ������� �� n2

C' -���
����� ���������
���� T ∈ E(Fq)

5' α ← en1
(P, T ) , β ← en1(R, T )

E' -��� 
�
 l′ ← ��1αβ �
 Fq

 ��1����
� ��1����� ��� ��$��� $�� � ����
 �� P ��D� � 
+.�
� � ������� lQ

�(, ���� Q 	+�
��� �� ��1���
� ���
����

�������Q P ∈ E(Fq) 
�
 ����
 ��P = n' R ∈ 〈P 〉
-�^��Q l ������� ��� $�� R = lP

C' �����
���� 
���� ������� k ��� $�� E[n] ⊆ E(Fqk)

5' ��
������ Q ∈ E[n] ��� $�� α = en(P, Q) � ����� ����
 n

E' β ← en(R, Q)

G' -��� 
�
 l ← ��1αβ �
 Fqk

-�D� E(Fq) �
� 
���� ��������1���� �� ����
 q + t − 1 ����� Fq 4 ���� q = pm' ��
��1������ 
������ �� 
���� ��� ����<���� ���� EQ

• � 9 t = 0 � E(Fq) ���
)�0
� � Zq+1

• �� 9 t = 0 �E(Fq) ���
)�0
� � Z(q+1)/2 ⊕ Z2 �� q ≡ 3 (
�� 4)!

• ��� 9 t2 = q � m ���

• �M 9 t2 = 2q 4 p = 2 � m <
���

• M 9 t2 = 3q � p = 3 � m <
���

• M� 9 t2 = 4q � m ���

� ������ 8'5 " �����*��� ���� ���
���� ��1����
� �� 
+�
��� �� �	�(� ���� �� 
�����
��������1������ ��� ����� 
�������� �
�
�Q
��1����
� ���� 
+�
��� �� ��1����
� � ������ �� 
����� ��������1����Q

�(, ���� Q 	+�
��� �� ��1����
� ���
����

�������Q P ∈ E(Fq) 4 P �� ����
 n 4 R ∈ 〈P 〉 4 E ��������1����
-�^��Q ������� l ��� $�� R = lP

C'  ���� k, c � ������ �� ������ �
�
�'



87 �������� 2	 ����������� ����� +�������� �  ���������

5' ��
����� Q′ ���������
���� �� E ' Q ← (cn1/n)Q′

E' α ← en(P, Q) � β ← en(R, Q)

G' l ← ��1αβ �
 Fqk

H' -� lP = R ����� �������� l 4 ����� ������ ���� ����� 5'

�� ��:� ����>�� �� ��1����
�� 
�������� �:
 
�
���.����� ���9�.�����
���'  �
���;
����� �� 
���� ����
 ��� ��2������� ��$����� �������� ����� ��
�� ���� $�� � �����
�
��D� ������� �� ���$�� � M'

,���( �	�����

-�D� � 
���� ���
� Fp � E(Fp) �
� 
���� ��<���
� ��0���� ����� ���' ��� 
���� "

�����0
��� 
�
� ���
���4 �� #E(Fp) = p'  1���� ��0���� ����� ������ �� 
���� � �
�����
�� �� ���
�� " 
<
��
�4 ���� $�� � ����
 �� 
���� " ���
�' 	����$�����
����4 ���
1���� " ���
)�0
� �� 1���� ������� �� �������� 
)���� p 4 �������� ��� F+

p '
 ������
� �� ��1����
� ���
���� ����� F+

p 
������� �
 ��
������ �
 �F
��� �������
l ∈ [0, p− 1] ��� $�� la ≡ b (
�� p) 4 �
� ��* $�� �����
 ���� ����� � �F
��� ���
� p 4
� a, b ∈ Fp 4 
�
 a �= 0' ����� 2��
�4 ����9�� �0
�����
���� 
��
���� l = ba−1
�� p'
�
� ��* $�� �� 
����1� �����
���� ���$����
���� �
 ���
��0�
� ψ : E(Fp) → F+

p 4

�
� 
������� �
 TCC℄ � THI℄ �� E(Fp) 2�� ���
���4 
����1��9�� �0
�����
���� ����*�� �
������
� �� �	�(� ����� E(Fp) �� �� �(� ����� Fp4 $�� ���� ��� ��������� �
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� �� ��1�
��
�� �� 
����
(c, d)Q ��� �� �������� 
������������� � ���������� ������ ��� ���
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�2���� ���� ��� k = #E/r4 ���� #E " � �F
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9 M��������� �� ���;
����� ��� �+�����W 2����4 
��� 
����+���

C' -� k ��� 2�� 2����
��� �����
C'C -� r ≤ 4

√
q � �� ���;
����� 2���
 ������ ���� ������
�� �� 
���� ��	-M��9

�#	 �� �	-M��9�]M	! ���� 
�
 ��������� %����'
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C'5 �� ���� ����� G'
5' -� r <

√
q + 1 � �� ���;
����� 2���
 ������ ���� ������
�� �� 
���� ��	-M��9�#	

�� �	-M��9�]M	! � r ������� k4 ���� 
�
 ��������� %����'
E' -� 
�2���� ��� 2�� �+����4 ���� 
�
 ��������� 2���� ��C5'E!
G' -� r ��� 2�� ���
� e 54 ���� 
�
 ��������� %����'
H' -� q = p 4 �����
H'C -� p ��� 2�� ���
� e 54 ���� 
�
 ��������� %����
H'5 -� �
� ��� 
����
>�� 0 ≤ a < p � 0 ≤ b < p 2�� 2����4 ���� 
�
 ���������
%����'
H'E -� ��� 2�� ����0
��� � ������������� �� 
����4 ���� 
�
 %����'
H'G -� 4a3 + 27b2 ≡ 0 
�� p 4 ���� 
�
 ��������� %����'
H'H -� G = (xG, yG) ��� 2�� ��2������ �� ����� �� ��0����4 ���� 
�
 ��������� %����'
H'8 -� �
� ��� 
����
>�� 0 ≤ xG < p � 0 ≤ yG < p 2�� 2����4 ���� 
�
 ���������
%����'
H'J -� y2

G �= x3
G + axG + b �
�� p! 4 ���� 
�
 ��������� %����'

H'6 -� rG �= ∞ 4 ���� 
�
 ��������� %����'
H'I -� 
���� 2�� ���
��� �� 2�+1�� � ���$�� � M4 ���� 
�
 ��������� %����'
8' -� q = 2m4 �����
8'C ����0
�� ����������
�� ��� ���
����� �� 
����
8'C'C -� ������
�� ��� 2�� �������<��� �� 1��� m4 ���� 
�
 ��������� 2����'
8'C'5 -� ����������
�� 2�� ���
�� 1�������� ���� T � m 2�� �����<��� ��� 6 ��
��� �.����� �
� ���� ���� ���� 
��01���
��4 ���� 
�
 ��������� %����'
8'C'E -� ����������
�� 2�� ���
�� 1���� � � ������
�� ��� 2�� �������<��� ��
1��� m �� ��� 2�� ������4 ���� 
�
 ��������� %����'
8'5 -� a, b ��� 2���
 ���
����� �� 
����4 ���� 
�
 ��������� 2����'
8'E -� � 
���� 2�� �����)��� � ��� 2�� ����<��� ����0
�� � �������������4 ���� 
�

2����'
8'G -� b = 0 4 ���� 
�
 ��������� %����'
8'H -� G = (xG, yG) ����� �� ��0����4 ���� 
�
 ��������� %����'
8'8 -� xG, yG ��� 2���
 ���
����� �� 
����4 ���� 
�
 ��������� %����'
8'J -� y2

G + xGyG �= x3
G + ax2

G + b �� 
����4 ���� 
�
 ��������� %����
8'6 -� rG �= ∞ 4 ���� 
�
 ��������� %����'
8'I -� 
���� 2�� ���
���<��� �� ���$�� � M4 ���� 
�
 � ��������� %����'
J' -��� 
�
 ��������� M���������'
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.4�4)4, 0

���	 �
 ��
��� ������
�� ��
��D
��� �	�

 �	
�	 ���7
�	

 ��1����
� ����.� 1��� ���������
���� 
��0
������ �� �
� 
���� ��<���
�4 ��"
 ��
����� 1������ �� ���91����4 � ����
 ������ 
�
� ���;
����� �� ��
<���' 	��������9��

$�� � 2��
�� #�-# ������� �
 ����� �� B ����4 
�
 B ≥
⌈

��12(r
1/2
min)

⌉

.  
�
���
����

��� �������� �
 ���� �����2�* � ������
��Q L ≥ B' ��
�"
 ����
 ��� 
����������� ��
��0��
>�� s = ⌊(m − 1)/B⌋ � w = m − Bs'

�(, ���� Q ,���
�� ��� 
��0
������ �� �
� 
���� ��<���
�

�������Q
9 	���� F2m W
9 ��
���� (rmin, rmax) ���� r �����
 �� �����9����!W
9 ��
��� ���� ������� lmax < rmin

-�^��Q
9 ���;
����� X, a, b, r, G'  ��� X " � ����:�
�� �� �������������

C' ��
����� �
 ����� X �������+��� �� 
�
���
���� L'
5' 	��
���� h = #�-#�X!
E' W0 ← w ���� 
��� / ������� �� h

G' 	�������� � ����� X ���� �
 ������� z

H' ���� i = 1, ..., s 2�
�Q
H'C 	�������� (z + i)
�� 2L ��
 ����� Xi �� 
�
������� L'
H'5 Wi ← #�-#�Xi!'
8' W ← 	��
�����
���W0, W1, ..., Ws!
J' 	�������� W �� ���
���� b ������
���� �� 
���� ���+���'
6' -� b = 0 ������ ���� ����� C'
I' ��
����� a ����������
����'
C7' 	��
���� � ����
 u �� 
���� ��<���
� E ����� F2m ���� ��� y2 + xy = x3 + ax2 + b'
CC' -� u ��� 2�� ���
� ��� $����9���
�!4 ������ ���� ����� C'
C5' -� u ��� �����0*�� � 
����
�� u = kr 4 r ���
� rmin < r < rmax4 ������ ���� ����� C'
CE' ��
����� �
 ����� G �� ����
 r ����� E '
CG' -��� 
�
 �X, a, b, r, G!

.4�4)4. 2

��
���	 �
 ��
��	
�
���
 �
 ��
��� ������
�� �	�

 �	
�	 ���7
�	

 ��1����
� ����.� ����0
� � �������� �� 
���� ��<���
� ����� 
���� ���+��� ��������

�
� ����� ��� ���;
����� �� ��
<���4 ��
 
�
� � ������������� �� 1���
�� �� 
����'
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�(, ���� Q M���0
�
�� �� 
���� 1����� ���������
����

�������Q
9 M���� X �� 
�
���
���� �
 ���� ���� L

9 ���;
����� F2m , a, b, r, G = (xG, yG)

-�^��Q M���������4 
��� � 
���� ��D� �+���� � ������������� �� 1���
�� ����� ��� ����09

���W 2����4 
��� 
����+���'

C' 	�
���� h ← #�-#�X!
5' W0 ←����� 2��
��� ����� w ��� 
��� / ������� �� h

E' 	�������� X ��
 ������� z

G' ���� = 1, ..., s 4 2�
�Q
G'C 	�������� � ������� (z + i) 
�� 2L ��
 ����� Xi �� L ����'
G'5 Wi ← #�-#�Xi!
H' W ← 
��
�����
���W0, W1, ..., Ws!
8' 	�������� � ����� W �� m ���� ��
 ���
���� b′ �� 
���� F2m

J' -� b = 0 ���� 
�
 %����'
6' -� b �= b′ ���� 
�
 %����'
I' -� G �= ∞ ���� 
�
 %����'
C7 ' -� y2

G + xGyG �= x3
G + ax2

G + b 4 ���� 
�
 %����'
CC' -� rG �= ∞ 4 ���� 
�
 %����'
C5' -��� 
�
 M���������'

.4�4)4/ �	���
���	 �
 ��
��� ������
�� ��
��D
��� �	�

 �	
�	 $
��	

 ��1����
� � ��1��� �����* �
 
��D���� �� ���;
����� ���� 
���� ��<���
� �����
�
 
���� ���
� Fp ��
 
�
� ��2��
�
�� ��0
����� ���� $�� �� ����� ����0
�� $�� �
1���
�� �� 
���� 2�� �����)���'  �����9���� ���
����� ���� ��� ����
 ������
����
�� ��������� [rmin, rmax]4 � 2��
�� #�-# �����*��� ��
 ��<�� �� ��
���� B ����4 
�


B ≥
⌈

��12(r
1/2
min)

⌉

. -�� ������� ��
 ��
���� L ≥ B' 	��������� ����� � ��1����� ��9

��
�� v = ⌈log2 p⌉ 4 s = ⌊(v − 1)/B⌋4 w = v − Bs − 1'

�(, ���� Q ,���
�� �����)��� �� ���;
����� �� �
� 
���� ��<���
�

�������Q
9 p 4 �F
��� ���
� $�� ��0�� � 
����
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9 �rmin, rmax!4 ��
���� ���� � ����
 �� �����9����
9 lmax < rmin4 ��
��� 
+.�
� ���� �������
-�^��Q
9 ����� X4 � ��� ����� ���� ����0
�
�� �� ������������� �� 1���
�� �� 
����
9 (a, b) 4 
��0
������ �� 
����
9 G 4 �����9����
9 r 4 ����
 �� �����9����

C' ��
����� ����������
���� �
 ����� X �� 
�
���
���� L �
 ����'
5' h ← #�-#�X!
E' W0 ←����� 2��
��� ����� w ���� 
��� / ������� �� h'
G' 	�������� � ����� X �� L ���� ��
 ������� z'
H' ���� i = 1, ..., s 2�
�Q
H'C 	�������� � ������� (z + i) 
�� 2L ��
 ����� Xi �� L ����
H'5 Wi ← #�-#�Xi!
8' W ← 
��
�����
�� �W1, W2, ..., Ws!
J' 	�������� � ����� �� W �� 
�
���
���� �v − 1! ��
 ������� c'
6' -� c = 0 �� 4c + 27 ≡ 0 (
�� p) ������ ���� � ����� C'
I' ��
����� �������� a, b ∈ Fp ���� $�� cb2 ≡ a3 �
�� p!
C7' 	��
���� � ����
 u �� 
���� ��<���
� E ����� Fp ���� ��� y2 = x3 + ax + b

CC' -� u ��� 2�� ���
� ��� $����9���
�! ������ ���� � ����� C' ����
�� ��� u = kr 4

�
 r ���
�4 
�
 rmin < r < rmax

CE' -���
����� �
 ����� G �� ����
 r ����� E'
CG' -��� 
�
 X, a, b, r, G

.4�4)4! 2

��
���	 �
 ��
��� ��
��	
���
��
 0

���� �	�

 �	
�	 $
��	

 ��1����
� ����.� 2�* � ����0
�
�� �� �������� ��� ���;
����� �� �
� 
���� $��
����� ���� ���������
���� 1�����4 ��
 
�
� �� �����9���� ����
������'

�(, ���� Q M���0
�
�� �� 
���� ��<���
� 1����� ���������
����

�������Q
9 ����� X �� 
�
���
���� L ����
9 q, a, b, r, G = (xG, yG)

-�^��Q M���������4 
��� �� ���;
����� �����
 ������� �� �����W %����4 
��� 
����+���'

C' 	�
���� h ← #�-#�X!
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5' W0 ←����� 2��
��� ����� w ���� 
��� / ������� �� h

E' 	�������� � ����� X ��
 �F
��� ������� z

G' ���� i = 1, ..., s 2�
�Q
G'C 	�������� � ������� (z + i)
�� 2L ��
 ����� Xi �� 
�
���
���� L ����'
G'5 Wi ← #�-#�Xi!
H' W ←
��
�����
���W0, W1, ..., Ws!
8' 	�������� � ����� W ��
 ������� c

J' -� c = 0 �������� %����
6' -� (4c + 27)
�� p = 0 �������� %����
I' -� cb2 �= a3
�� p �������� %����
C7' -� G = ∞ �������� %����
CC' -� y2

G �= x3
G + axG + b
�� p �������� %����

C5' -� rG �= ∞ �������� %����'
CE' �������� M���������'

1 # �=�3 >? .# @ #AA*

���� ������ ��0�� 
"����� ���� 1���
�� � ����0
�
�� �� ���������� ��1���� ���� ���9
��
�� �� 
����1��� � ����� �����"� �� ��� �� ��1����
� �� ���������� ��1���� �� 
�����
��<���
�� ��	�-�!' ���� ��1����
� " � ��+��1� ����� 
����� ��<���
�� �� �-� ���- PI'E7!'
���� ��� ����� �
 
��D���� 
�
 2��
>�� ���� ��������� ���� ���
 7777E �� ��1����� PI4
��
�"
 
����
��� ��� ������ -�1��� �� #��� �-#-!'  
��D���� �� ���� 2��
>�� " ����
��� Z-#�9C4 -#�955G4 -#�95H84 -#�9E6G ��� -#�9HC5['

 ������ �	�-� ����: 
"����� � 
���"���� ���� 1���
�� �� 
����� �F���
�� � ��������4
��
 
�
� 
�
����
�� �� 
������� ��
���+���� ���� ��� ��1��� �� ���� 
����� �
 ��1�9
���
��' ��"
 �����4 2����
� 
"����� � 
���"���� ���� 1���
�� �� ���;
����� �� ��
<���
���� 
����� ��<���
��4 ��
 
�
� 
�
����
�� �� 
������� ���� �����*�
�� ���$���� �� ����
���;
�����'  ���.� � �� ��2����� ������ ���
���� ����� 1���
�� �� �F
���� �����)����4
�� ����� $�� � ���.� � ���� ����� 1���
�� �� �F
���� ���
��'

]����� �
���
������� �� 2��
� ����������4 �� �"
��
�� ���
����� ����� ������ ���9
��������
 1�������Q

• ����1������ �� �����W

• �������
�
�� �� ���1�
 ��� �����W

• ������1��������� �� 
����F�� �� 
����1�
 � �� ��� ���1�
'
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9���� :����� 
� 
�����	%�

�<��� �� ��1����
� " �.������ �
 ���� � ���������� � $��������� �� �����
>�� $��
�
 ������+��� ���
��� �.�
���� ���� 
�
���
���� � ��1����
� �� �
 ���� �����
�4 
�

������������� �
�
� �� H7d' ����� 2��
�4 �
 �<��� �� ��1����
� �� C56 ���� �
���
�
$�� � ������+��� ������� �.�
���� 2127 �����
>�� ���� $������ � ��1����
� �� �����
�
�� 
�����1��0�'  ��
���� �� C ��� �� ��1����
� �
���
� $�� �� ��2��
�� �� ������+���
���
���
 ������ ���� 
�
���
���� � ��1����
� �� �����
�'

 
��D���� ��� �<���� �� ��1����
� �
 ���� ��������� ��� ���� ������ " ���� ���
Z674 CC54 C564 CI54 5H8['  �<��� �� ��1����
� �� �
 ���� �����
� " ���� ���� �<��� ��

�
������� 
��� 2��
� $�� � 
�
�>�'

9���� !������%'� 
� 
������

� �������� �������+��� ���� �.�
�
�� �� ���������� � � �������+��� ���� ����0
�
��
����� ����
 �.�
���� �� ������ ����.� ���� ������
 �
 
��2��
����� 
�
 � �	�-�Q

• � �������� $�� ������ � 
����1�
 ���� ��������
�� �
 
��D���� �� ���;
����� ��
��
<��� 
���������� �� {q, a, b, xG, yG, n, semente, h, base}'

C q = 2m ���� 
����� ���+���� �� p���
� ���� 
����� ���
��

C {a, b} ��� ���
����� �� 
���� 
�������������� ��� 
��0
������ �� 
���� ��<���
�

C (xG, yG) ��� �� 
���������� �� �����9����4 �����
���� / 
����' ��� ����� " �
1������ �� ���91���� �� ������ �� 
���� � ����
 ������ ���� �����
�'

C n " � ����
 �� ���91���� 1����� ��� (xG, yG)

C semente ���
�����! 
���������� � ������� ���� 2��
�� �� ���� h���� � 
���
�� 
����� ��<���
�� ���������
���� 1������

C h ���
�����! " � 2��
�� �� ���� �����*��� �� 1���
�� �����)��� �� 
���� ��<���
�'

���� ���;
����� ����
 ��� ���� 1������ �� �
���� 
�
 �� 
"����� ���
������ ��� ����
������' 	��� � �������� $�� �.�
��� � ���������� ��� ����� 1����� �� ���;
�����4 "
��
���+��� $�� ��� �� ������ ����� �� ��+9���'  � ���;
����� ����
 2����
�� � �<��� ��
��1����
� ��$������ ���� ��$��
�'

• � �������� $�� 1��� � ���������� ���� ����
����� �
� 2��
�� �� ���� ���$���� ��
�<��� �� ��1����
� ����D��� ���� ���
����'
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• 	����� �������� ��
���+���� � ���+��
�� ����
 ��� 
������ ������ 1������ �� �F
����
�����)���� �������� ���� ������4 �2���
���� �<��� �� ��1����
� 
�
���<��� 
�
 � ��9
$������ ���� �����
�' �� 
����� �������� ���+��
�� ����
 ��� 1������ ���� ��������
$�� ������ �� ��� �
 ���
���� �
 $��
 �� 
��0�' �� 
����� �������� ��
���+����
����
 ��� 1������ ������ ���� �������� $�� ������'

• � �������� $�� 1��� � ���������� ���� ��� ������ �
 ��� �� 
����� (d, Q) ����
�����
��� ���;
����� �� ��
<��� 
��
������� �� ���
���� ���
'  
�
����
� �� 1���
��
��� 
����� ���� ��� 
�
���<��� 
�
 � ���
���� ���� ������4 ������ 1������ ��
�F
���� �����)����' _ ��
���+��� ����1���� �������� �� ��� �� 
����� � ����� ��

���� �������'

• � �������� $�� ����0
� � ���������� ���� ����� �� 2��
� �������
��� �� ���;
�����
�� ��
<���4 � 2��
�� �� ���� ���� ����
� �� 
����1�
 � � 
���� �F���
� � ���
�
���1��� �� ����������' �� ��1������ ����0
�
>�� ��� ��
���+����Q

C �������� ��� ���;
����� �� ��
<���W

C �������� �� 
���� �F���
�W

C 1������� �� $�� � 
���� ������� ������
� / �������� $�� 1��� � ����������

9���� �;�
�%'� 
� ����	�����

 ��1����
� ����.� ���� ��� ��1���� ���� ���1������ �� 
����1�
 �� �����+9��Q

�(, ���� Q ,���
�� �� ����������

�������Q
9 ����� �� ���� M 
������������� / 
����1�
 � ��� ��������W
9 �� ���;
����� �� ��
<��� �� 
���� ��<���
�W
9 2��
�� �� ���� � ��� �����*���W
9 
���� ������� � ��� �����*��� �� ����������W
-�^��Q
9 ��� �� �������� �r, s! �� ��������� T1, n − 1℄

C' ,���� �
 ��� ��
���+��� �� 
����� (k, R) 4 
�
 R = (xR,, yR) 4 ����
����� ��� ���;
��9
��� �� ��
<���W
5' 	�������� � ���
���� xR ��
 ������� j W
E' r← j
��n' -� r = 0 ������ ���� ����� C'
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G' H ←#�-#�M!'
H' -� ⌈log2 n⌉≥
�
���
���� �
 ���� �� H ′

H'C ����� E ← H

H'5 ����� E ← ����� ��� ⌈log2 n⌉ ���� 
��� / ��$����� �� H

8' 	�������� E ��
 ������� e

J' s ← k−1(e + dr)
��n ' -� s = 0 4 ������ ���� ����� C'
6' ���
�����
����! �� �r, s! ��� 2�� �
� ���������� �+����4 ������ ���� ����� C'
I' -��� 
�
 �r, s!

9���( 1����
�%'� 
� ����	����� < �*��� !7���
�

���� ��1����
� " �����*��� ���� ��
����� �� 
����1�
 
�
 � ����)���� �� ����0
�� �
���������� �� �����
�����'

�(, ���� Q M���0
�
�� �� ����������

�������Q
9 �����1�
 ��
����� M cW
9 ���������� ���� ��� �r′, s′!W
9 ���;
����� �� ��
<��� �� 
���� ��<���
�W
9 %��
�� ���� �����*��� �� ����������W
9 	���� �F���
� Q�� �������� $�� �����
���� � ������� � 
����1�

-�^��Q
9 M���������4 
��� � ���������� ��D� �+����W %����4 
��� 
����+���W

C' -� r′ �� s′ ��� ��������
 �� ��������� T1, n − 1℄ ���� 
�
 %����'
5' H ′ ←#�-#�M c!
E' -� ⌈log2 n⌉ ≥
�
���
���� �
 ���� �� H ′

E'C ����� E ′ ← H ′

E'5 -���� E ′ ← �� ⌈log2 n⌉ ���� 
��� / ��$����� �� H ′'
G' 	�������� � ����� E ′ ��
 ������� e′

H' u1 ← e′(s′)−1
��n

8' u2 ← r′(s′)−1
��n

J' R ← u1G + u2Q

6' -� R = ∞ ���� 
�
 %����'
I' ���� $�� R = (xR, yR) 4 
�������� xR ��
 ������� j

C7' v ← j mod n

CC' -� v �= r′ ���� 
�
 %����'
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C5' -��� 
�
 M���������'

9���6 1����
�%'� 
� ����	����� < �*��� !����
�

���� ��1����
� " �����*��� ���� �����
����� �� 
����1�
 
�
 � ����)���� �� ����0
��
��� ��)���� ����������'

�(, ���� Q M���0
�
�� �� ����������

�������Q
9 �����1�
 M ′

9 ���������� �r′, s′!
9 ���;
����� �� ��
<��� �� 
���� ��<���
�
9 	���� ������� d �� �����
����� �� 
����1�

-�^��Q
9 M���������4 
��� � ����0
�
�� ����� ���� ��
 ��
�����W %����4 
��� 
����+���'

C' -� r′, s′ ��� ��������
 �� ��������� T1, n − 1℄ ���� 
�
 %����
5' H ′ ←#�-#�M ′!
E' -� ⌈log2 n⌉ ≥ 
�
���
���� �� H ′ �
 ����
E'C ����� E ′ ← H ′

E'5 -���� E ′ ← �� ⌈log2 n⌉ ���� 
��� / ��$����� �� H ′

G' 	�������� E ′ ��
 ������� e′

H' u1 ← e′(s′)−1
��n

8' u2 ← r′(s′)−1
��n

J' k′ ← u1 + u2d mod n

6' R ← k′G

I' -� R = ∞ ���� 
�
 %����
C7' ���� $�� R = (xR, yR) 4 
�������� xR ��
 ������� j

CC' v ← j mod n

C5' -� v �= r′ ���� 
�
 %����
CE' -��� 
�
 M���������'

9���, ��������� ���� +���%'� 
� ������ ������
�� �����=����

 ��1����
� ����.� �����*� 2��
>�� �� ���� 
�
 ��.������� �� 1���
�� �����)��� ��
���;
����� �� 
����� ��<���
��Q
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�(, ���� Q ,���
�� �� ���;
����� �� �
� 
���� ��<���
�

�������Q
9 -�
���� h � ��� ����� 
�
� ������� �� 2��
�� �� ���� 
�D� ������� ��
 
�
���
����
�� t ����
9 ��
���� �� 
���� q

-�^��Q
9 ���;
����� a, b ��0����� � 
���� ��<���
�4 �� %���� �
 
��� �� 2����'

C' m ← ⌈log2 q⌉
5' s ← ⌊(m − 1)/t⌋
E' k ← m − st �� � 
���� 2�� ���+��� �� k ← m − st − 1 �� � 
���� 2�� ���
�
G' H ←#�-#�h!
H' 	�������� H ��
 ������� e

8' c0 = e mod 2k

J' ���� j = 1, ..., s 2�
� cj ←#�-#�h + j mod 2q!
6' c ← c02

ts + c12
t(s−1) + ... + cs

I' 	�������� c ��
 ���
���� �� 
���� r

C7' ��
����� ����������
���� �
 ���
���� a�� 
���� Fq

CC' ���� 
���� ���+���4 �� r �= 0 ����� b ← r 4 ����� ���� 
�
 %����'
C5' -� 
���� 2�� ���
�4 �����
C5'C ��
������ b������
���� �� 
���� 0����4 ��� $�� b2r = a3' 	��� ��� b ��� �.����4
���� 
�
 %����'
C5'5 -� 4a3 + 27b2 = 0 ���� 
�
 %����'
CE' -��� 
�
 �a, b!

9���9 ��	
�%&�� :�
���#���� ���� ������ ������
�� 
������

.4�4.4� �	�����	 �
 5 2

 ���$�� � M ����* � ������
� �� ��1����
� ���
���� ��
� 
���� ��<���
� ����� �

���� Fq �� ������
� �� ��1����
� ���
���� ����� � �.������ FqB 4 ���� B ≥ 1 4 $�� ��


�
���.����� ���9�.�����
���'  ���$�� " ��+��
� ������ �� B 2�� ��$����' ���� � 
����
����� ��� 
����� ��<���
��4 �� �������4 ��� ����
�� ��� " ����<���' � 
����
�� �� � M
��
 ��� ��D����� ����1���� $�� �
� ���� 
���� ��� " ������+��� � ���� ���� �� ���$��'
����� �� ����
�� � ��1����
� �� ����0
�
��4 " ��
���+��� ����
����� �
 ��
��� �� � M4
$�� 
������� ��
 ������� �������� B ��� $�� � �.���
�� �� ��1����
�� ����� FqB ��D� ���
��2<
�� $����� 
��
���� ��1����
� ���
���� ��
� 
���� ��<���
� ����� Fq'  ������ PI'85
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��$��� B ≥ 100' ��� ����� �� B ���
��� 
����� �����9���1������'

�(, ���� Q M���0
�
�� �� 
����
�� �� � M

�������Q
9 (�
��� �� � M B;

9 ���:�
�� �� �F
��� ���
� qW
9 �F
��� ���
� n ��� $�� n ��D� ������� �� #E(Fq)4 �F
��� �� ������ �� 
���� ��<���
�
E ��0���� ����� � 
���� FqW

-�^��Q
9 M���������4 �� � ����� ������W %����4 
��� 
����+���'

C' t ← 1

5' ���� i = 1, ..., B 2�
�Q
5'C' t ← tq mod n

5'5' -� t = 1 ���� 
�
 %����'
E' -��� 
�
 M���������'

.4�4.4� �	�����	 �������

�� 
����� ��<���
�� ���
���� ��� 
����� ���� �� $���� � �F
��� �� ������ 
���
��� 
�

� �F
��� �� ���
����� �� 
���� 0���� ����� � $��� ���+ ��0����' TCC℄ � THI℄ 
�������

$�� 
����1��9�� �����
���� ���
��0�
�� ����� ���� 
����� �� ��� 2��
� � �������� � ����9
��
� �� ��1����
� ���
���� �
 ��
�� ���9�.�����
���' ���� ������ 
����� ������+���� �
���� ���$��4 ����� ������ � �F
��� �� ������ 
����� � ��
���� �� 
����' -� 2���
 �1����4
� 
���� ���� ��� ���
������'

9���> 1���
�%'� 
� ������ ������
��

 ��1����
� ����.� ������� M���������4 
��� � 
���� ��<���
� � ��� ����0
��� ��D� �+�9
���4 � %����4 
��� 
����+���'

�(, ���� Q M�����
�� �� ���;
����� �� �
� 
���� ��<���
�
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��

�������Q
9 	���� 0���� Fq

9 ���;
����� �� 
���� (a, b)

9  �
�����
����4 ��
���� h���� ��� �
 2��
�� �� ����4 
��� � ������������� �� 
����
���
��� ��� ����0
���

-�^��Q
9 M���������4 
��� � 
���� ��<���
� ��D� �+����W 2����4 
��� 
����+���'

C' -� � q 2�� <
��� � ���9���
�4 ���� 
�
 %����'
5' -� q = 2m � m��� 2�� ���
�4 ���� 
�
 %����'
E' -� a �� b��� 2���
 ���
����� �� 
���� Fq 4 ���� 
�
 %����'
G' -� � 
���� ��<���
� 2�� ���1���� ��� ��D�4 4a3 + 27b2 ≡ 0 (mod q! ���� 
���� ���
�4 ��
b = 0���� 
���� ���+���!4 ���� 
�
 %����'
H' -� � ��
���� h 2�� 2����
��� � �� 
��0
������ 1������ �� �
���� 
�
 � ��1����
� ��
���
 J'5'8 ��� 
���
�����
 
�
 (a, b) ���� 
�
 %����'
8' -��� 
�
 M���������'

9���? !��-������ 
� ����	��

���� ������ ��
�
���� � ��� ��� $���*� 
��D����� �� ���;
����� �� ��
<��� ��������
���� ������ %��- C6895' ���� 
��� �
 ��� 
��
� �<���� �� ��1����
�4 �+ ��:� 
��D�����
��0�����' ��"
 ������4 � ���+��� ��
 � ��������� �� 1���� ���� ��)����� ���;
�����
�����*���� �� 
"����� ���
����� ���� ������ PI'85'
 � ���;
����� �� ��
<��� ���� 
����� ��<���
��4 ��1���� ���� ������4 
�������
 ��Q

��
���� �� 
���� 0���� q4 ����
�
�� �� ���� �����*��� ���� 
����� ���+����4 ��
����
�����*��� �� 1���
�� �����)��� �� 
����� ��<���
��4 ���;
����� �a, b) $�� ��0��
 � 
����
��<���
� E4 ����� G(xG, yG) ����� E �� ����
 ���
� n4 
�2���� h'

• ��
���� �� ����Q $����� � 
���� 0���� ��
������ " ���+��� F2m 4 � 2��
� �� �� �����9
������ �� ������� �� ���� 
�������������� ��� ���
����� ����� 
���� " �����
�����
���� ����4 � $��� ���� ��� ������
��� �� ���
��' ��� �+ ����
��� �� ��1����
�
����
����� / ��
����' �.�����
����4 ����� �� ���+���� �� �
 ���� 
��D���� ��
���;
����� �� ��
<��� �����*�
 � 
��
� ����4 �
���� �������
���� ��D�
 ������
���� �����*�� � ����������
�� $�� ����D���
4 ����� $�� �����*� ���������� �$����9
������'

• %��
�� 
�����
� �� ����Q �����*��� �� �����
���
�� �����)��� ��
����� ��� ���;
��9
��� �a, b! �� ��0��
�� �� 
���� ��<���
�4 ��
 
�
� �� �����
���
�� �� �����9����
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G'  ��� ����� ���� �� 2�
�� 
�������� ���� � ��
����
�� �� ������������� �� ���
���$��� 
����� 1����� ����
���� �� 
����' ����������4 � ��� �� ��1�
�� 
����� ��9
��
<0
�� �
�
� �� �� K�����*! ���� ����������� 
������� �� ����
�����' ��� ����

�����4 � ������ PI'85 ���
��� �� ���� ����� �� ��
����'

• ��
���� �� �����9���� G Q ����� $�� ��� ����
 ��D� ���
�4 ��� �+ ������
>��

����
���� �� ��1����
�' ����������4 ����� �� ���+���� �� �
 ���� 
��D���� ��
���;
����� �� ��
<��� ����
 ���� � 
��
� �����9����' ���� ��
����� ����<����
���������������� � ���$��� �� ����� �� �
���
����
��4 � ��
���� ���� ��� 2���� ��
2��
� �����)���' ��� �.�
���4 �� ��� �� 2�* � ����0
�
�� �� ����� �� r �� 2��
� �
���9�� r �= 0 �� ���������� �r, s!4 �
 ������+��� ������� ��
����� G �� ��� 2��
� �
1���� �
� ���������� ���+���� (0, s) ���� $���$��� 
����1�
' 	�
 ����4 ��� ����
�������� � ����������' -� � ��
���� �� G 2�� �����)���4 ����������4 ��
9�� 
���
�������* � ���� ���� �� ���$��'

• M�����
�� �� ���;
����� �� ��
<���Q � 1������ ��� ���;
����� �� ��
<��� �� 
�����
��<���
�� ������� ����1���� $�� ���� �����2�*�
 �� 
���"���� �������� ��� ���.� �'E �
	'C ����� ������' ����� �� $�� �����*�
 ���� ���;
����� ��
��
 �������
 ������
��� ��������4 ��1���� �� 
��
�� 
���"����4 ���������� �� 1��� �� 
��0��
� �

$��
 1���� ���� ���;
�����' � 1������� �� �������� ������ ���;
����� ���� ���
������ ��� ���� ���+����4 ��� ���� �� �������
9�� ������+���� ��� ����� �� ���$���
���������� ���� ������'
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